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Question ID:- 181

Choose the word similar in meaning to the one given below :
Submit

(1) Concede

(2) Meet

(3) Defy

(4) Attract

Options:-

.1, Option ID :- 721,
« 2, Option ID :- 722,
. 3, Option ID :- 723,

. 4, Option ID :- 724,
Answer Given:- 1, Option ID : -721

Question ID:- 182

Choose the word similar in meaning te the one given below :
Diligent

(1) Intelligent
(2) Industrious
(3) Desirable
(4) Distinctive

Options:-

.1, Option ID :- 725,
« 2, Option ID :- 726,
. 3, Option ID :- 727,

. 4, Option ID :- 728,
Answer Given:- 4, Option ID : -728

Question ID:- 183
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Choose the word opposite in meaning to the one given below :

Animated

(1) active

(2) wild

(3) civilised

(4) lazy
Options:-

.1, Option ID :- 729,
« 2, Option ID :- 730,
. 3, Option ID :- 731,

. 4, Option ID :- 732,
Answer Given:- 3, Option ID : -731

Question ID:- 184

Choose the word opposite in meaning to the one given below :

Lethargic

(1) Keen

(2) Dashing

(3) Local

(4) Dead
Options:-

.1, Option ID :- 733,
. 2, Option ID :- 734,
. 3, Option ID :- 735,

. 4, Option ID :- 736,
Answer Given:- 1, Option ID : -733

Question ID:- 185

Identify the Part of Speech of‘the underlined word in the following sentence.

There are no books at home.

(1) Noun

(2) Pronoun
(3) Preposition
(4) Adjective

Options:-

.1, Option ID :- 737,
« 2, Option ID :- 738,
. 3, Option ID :- 739,

. 4, Option ID :- 740,
Answer Given:- 2, Option ID : -738

Question ID:- 186
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Identify the Part of Speech of the underlined word in the following sentence.
All he is worried about is his own hide .

(1) Noun

(2) Pronoun
(3) Verb

(4) Adverb

Options:-

.1, Option ID :- 741,
« 2, Option ID :- 742,
« 3, Option ID :- 743,

. 4, Option ID :- 744,
Answer Given:- 4, Option ID : -744

Question ID:- 187

Rearrange the following words/phrases to form correct sentence.
A) s high

B) against the dollar

C) moment euro

(
(
(
(D) at the
(
(
(
(

(O, D) (A) (B)
2) (D), (©) (A), (B)
3)  (B) (O), (D) (A)
4)  (A), (B), (O)(D)

Options:-

.1, Option ID :- 745,
« 2, Option ID :- 746,
. 3, Option ID :- 747,

. 4, Option ID :- 748,
Answer Given:- 2, Option ID : -746

Question ID:- 188

Rearrange the following words/phrases to form correct sentence.
(A) hindrance to
(B) the high price
(C) is a major

(D) potential buyers
(1) (D), (&) ®) ©
2 (®B) (©), (A) D)

3 @A), © (B),(

(4 (©), D) (A), (

Options:-
.1, Option ID :- 749,
« 2, Option ID :- 750,
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. 3, Option ID :- 751,

. 4, Option ID :- 752,
Answer Given:- 2, Option ID : -750

Question ID:- 189

Choose the correct option in which VOICE is changed in the following sentence.
The cat is feeding her kitten.

(1) Her kitten is fed by the cat.

(2)  Her kitten is being fed by the cat.
(3) Her kitten has been fed by the cat.
(4) Her kitten was fed by the cat.
Options:-

.1, Option ID :- 753,

« 2, Option ID :- 754,

« 3, Option ID :- 755,

. 4, Option ID :- 756,
Answer Given:- 2, Option ID : -754

Question ID:- 190

Choose the correct option in which VOICE is changed in(the following sentence.
Are you giving food to the hungry child ?

(1) Is the hungry child being given food by you 2

(2) Is the hungry child given food by you ?

(3) Does the hungry child get food by you'?

(4) Has the hungry child been givendood by you ?

Options:-

.1, Option ID :- 757,
« 2, Option ID :- 758,
. 3, Option ID :- 759,

. 4, Option ID :- 760,
Answer Given:- 1, Option ID : -757

Question ID:- 191

Fill in the blank in the following sentence with suitable preposition.

Ultimately we found a way to reach to the young people.
(1) at

(2) on

(3) out

(4) onto
Options:-

.1, Option ID :- 761,
« 2, Option ID :- 762,
. 3, Option ID :- 763,

. 4, Option ID :- 764,
Answer Given:- 3, Option ID : -763
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Question ID:- 192

Fill in the blank in the following sentence with suitable preposition.
People contributed freely in response my appeal.

(1) at

(2) to

(3) on

(4) for
Options:-

.1, Option ID :- 765,
« 2, Option ID :- 766,
. 3, Option ID :- 767,

. 4, Option ID :- 768,
Answer Given:- 2, Option ID : -766

Question ID:- 193

Identify the form of tense in the following sentence.
Tomorrow I am going to my old college.

(1) Simple Present

(2) Present Continuous

(3) Present Perfect

(4) Present Perfect Continuous
Options:-

.1, Option ID :- 769,

« 2, Option ID :- 770,

. 3, Option ID :- 771,

. 4, Option ID :- 772,
Answer Given:- 2, Option ID : -770

Question ID:- 194

Identify the form of tense in the following sentence.
They had no fodder.

(1) Simple Present

(2) Simple Past

(3) Past Perfect

(4) Present Perfect

Options:-

.1, Option ID :- 773,
« 2, Option ID :- 774,
. 3, Option ID :- 775,

. 4, Option ID :- 776,
Answer Given:- 3, Option ID : -775

Question ID:- 195
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Choose the correct option in which the Narration has been changed in the following sentence.
Latika said to Ram, “Where are you going now ?”

(1) Latika asked Ram where he was going now ?

(2) Latika enquired of Ram where he was going then
(3) Latika enquired Ram where he was going now
(4) Latika asked Ram where was he going then.
Options:-

.1, Option ID :- 777,

« 2, Option ID :- 778,

« 3, Option ID :- 779,

- 4, Option ID :- 780,
Answer Given:- 2, Option ID : -778

Subject : GH_Q16-Q30_TGTPHE

Question ID:- 196

Frafafas T s sy afer si-39% sTuR W f5u U 999 &1 Fele S S

T4 = foru hfaan wisHE a5 § o 9ar ot 9-sm@sm gt sfadl Jyfed--fd w9 8 o€ st €
=R gfer A €, fagm = 9, 29 7 @, R Siaar # T6R s1evd 1) 66 7e 9T ed & s w5
UE T iR Sfeet Hee Stuan =en o W ¢ | o oy dusy o 9w gfie % e o719 55g # gay
A1~ 1@l © | 39 uifefa § w1 &1 S1aet A @ P S SeR @l ¢ | 36 @i siq:uesfa § wge
I THA-GHA T SFI @A o foae sfaar 7s sifa & wrerer it =elt o W 8 i =eft Jerft | e i
T TE T |

hferd R ] % ferw 2 :
(1) Huevia

(2) gEASHE

(3) fafere

(4) TR
Options:-

.1, Option ID :- 781,
« 2, Option ID :- 782,
. 3, Option ID :- 783,

. 4, Option ID :- 784,
Answer Given:- 2, Option ID : -782

Question ID:- 197
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Freafafed T #1 eEyEE ufer HiR-3ER YR T fRU MU gve 1 92 S S

T o o g whier a5 ® o 99r & gw-sms gt sfodi 8, frdt-a-fordt &g 8§ o s 21
=@ gfierd = €1, fom = €, <9 7 &, W Hiaan s yuR sEva @ A ¥ ¢ fe us s @ s w5
TG geF IR Sfed dea aiva =9en o @ 2 1 g ofia Sy 97 99 gie & 9y o1 g5 # gay
-9 &l ¢ | 39 URiEfd | 7s &1 S0 HsAd @ o S SR Tl © | $H o Sia:Wehld H AT
I THA-THF T S & o ToTe swfaar 7351 Sfd o T ot =t of Wi € $iX =t =Jort | SHad &
THH TE T |

SHfgar el IRt S § 2

(1) HER & ¥ sfaai §

(2) HUR w39 SfaAl

(3) HER W HI-AE FH SfaAi §
(4 FS-ASTRUH

Options:-

.1, Option ID :- 785,
. 2, Option ID :- 786,
. 3, Option ID :- 787,

- 4, Option ID :- 788,
Answer Given:- 3, Option ID : -787

Question ID:- 198

Frfafad mere s srgEs ufen $iR-39E, iU fTu T g @ g I I

7T = foru faa W o5 § 6 ganat 99— vt sfos °, fref-=- et w9 & o8 st €1
= 3fer A €, fagm = 9, <9 7 &, R F THR $1Evd | 96 T8 © T 9T oA & =i
TE 9 IR Sifect Hew St don 2T ¢ | o oy Sy 9 39 g F Ty o1 55T T 9ey
-9 &l ¢ | 39 URiEfq A Al S0 HsHdl @ 3 S0 SReR Bdl © | 36 o Sia:Wehld H A
I THA-THF TSI L& o foTe shfaar w35 sifd o @ ol =l o @i 8 oiX =t 9ort | SHad &
THH TE T |

T Y9-gfte 3 Tl 9 ged =1 Yede1 yen 91 @l 8, Fifs =98
(1) F=adE

(2) dfereis

(3) AT W WEA SR Sifeet Hew St = o W

(4) d=fRe e Sl ¥

Options:-

.1, Option ID :- 789,
« 2, Option ID :- 790,
. 3, Option ID :- 791,

. 4, Option ID :- 792,
Answer Given:- 3, Option ID : -791

Question ID:- 199
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Freafafed T #1 eEyEE ufer HiR-3ER YR T fRU MU gve 1 92 S S

T o o g whier a5 ® o 99r & gw-sms gt sfodi 8, frdt-a-fordt &g 8§ o s 21
=@ gfierd = €1, fom = €, <9 7 &, W Hiaan s yuR sEva @ A ¥ ¢ fe us s @ s w5
TG geF IR Sfed dea aiva =9en o @ 2 1 g ofia Sy 97 99 gie & 9y o1 g5 # gay
-9 &l ¢ | 39 URiEfd | 7s &1 S0 HsAd @ o S SR Tl © | $H o Sia:Wehld H AT
I THA-THF T S & o ToTe swfaar 7351 Sfd o T ot =t of Wi € $iX =t =Jort | SHad &
THH TE T |

HISF = ST HI @ ST ] a1 @l § 2
(1) 39 g2 & WY A7 2T H H9Y e & FR
(2) 3" Yt & W YA WY FAA o HRO]

(3) Efcerd H B T @ % HRU

(4) SR wfa & erfeer wfera 9 % FRO
Options:-

.1, Option ID :- 793,

. 2, Option ID :- 794,

. 3, Option ID :- 795,

. 4, Option ID :- 796,
Answer Given:- 1, Option ID : -793

Question ID:- 200

Frfafad mere s srgEs ufen $iR-39E, iU fTu T g @ g I I

7T = foru faa W o5 § 6 ganat 99— vt sfos °, fref-=- et w9 & o8 st €1
= 3fer A €, fagm = 9, <9 7 &, R F THR $1Evd | 96 T8 © T 9T oA & =i
TH gy IR Sifedt dee sSia don 2Te | o oy du-y 9 99 gfie F 1y o1 52 & 98y
-9 &l ¢ | 39 URiEfq A Al S0 HsHdl @ 3 S0 SReR Bdl © | 36 o Sia:Wehld H A
I FHA-THT TSI L& o 7T shfaar w351 Sfd o @ o ft =l o @ 8 X =t 9ortt | SHad &l
THH TE T |

wHiaar 1 STy fFEE 98 & 2
(1)

ERlGED]
(2) foerEEri
(3) fereml
(4) Tgs
Options:-
.1, Option ID :- 797,
« 2, Option ID :- 798,
. 3, Option ID :- 799,

. 4, Option ID :- 800,
Answer Given:- 4, Option ID : -800

Question ID:- 201
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Frafafas § adt = gfe 9 R o= € :

(1) sFfEsR

(2) grEEn

(3) W=

(4) ¥H@
Options:-

.1, Option ID :- 801,
- 2, Option ID :- 802,
. 3, Option ID :- 803,

« 4, Option ID :- 804,
Answer Given:- 2, Option ID : -802

Question ID:- 202

Frefafad | vEares S99 = ©
(1) =

(2) FEH

(3) &t

(4 vEd

Options:-

.1, Option ID :- 805,
« 2, Option ID :- 806,
. 3, Option ID :- 807,

. 4, Option ID :- 808,
Answer Given:- 1, Option ID : -805

Question ID:- 203

Options:-

.1, Option ID :- 809,
. 2, Option ID :- 810,
. 3, Option ID :- 811,

. 4, Option ID :- 812,
Answer Given:- 3, Option ID : -811

Question ID:- 204
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(1) 9
(2) Hfdas
(3) rg
4 "
Options:-

.1, Option ID :- 813,
. 2, Option ID :- 814,
. 3, Option ID :- 815,

. 4, Option ID :- 816,
Answer Given:- 2, Option ID : -814

Question ID:- 205

(1) 57 w9

(2) wgHife THE

(3) TCIEY T

(4) THHURE TEE H

Options:-

.1, Option ID :- 817,
« 2, Option ID :- 818,
. 3, Option ID :- 819,

. 4, Option ID :- 820,
Answer Given:- 1, Option ID : -817

Question ID:- 206

Freferfag § wr—gfy e v 7o & :

(1) A
(2) T
(3) Temmamg
(4) HeFg
Options:-

.1, Option ID :- 821,
- 2, Option ID :- 822,
. 3, Option ID :- 823,

. 4, Option ID :- 824,
Answer Given:- 2, Option ID : -822

Question ID:- 207
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(1) 9uT
(2) wE
(3) e
(4) e
Options:-

.1, Option ID :- 825,
- 2, Option ID :- 826,
. 3, Option ID :- 827,

. 4, Option ID :- 828,
Answer Given:- 2, Option ID : -826

Question ID:- 208

Frefafaa sz 7 § qoag-agyE 1 o T g E

(1) FU-FUH

(2) TE-TE

(3) FP-FI

(4) HArS-3HS
Options:-

.1, Option ID :- 829,
« 2, Option ID :- 830,
. 3, Option ID :- 831,

. 4, Option ID :- 832,
Answer Given:- 1, Option ID : -829

Question ID:- 209

Frreferfis § el o T R
(1) e

(2) TEW

(3) YA

(4 <=

Options:-

.1, Option ID :- 833,
« 2, Option ID :- 834,
. 3, Option ID :- 835,

- 4, Option ID :- 836,
Answer Given:- 3, Option ID : -835

Question ID:- 210
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‘3 o1 AW e gerel & frefatad § § weie o ®

(1) TGl B TSI T

(2) S =

(3) wd fraEm

(4) TG B
Options:-

.1, Option ID :- 837,
« 2, Option ID :- 838,
. 3, Option ID :- 839,

. 4, Option ID :- 840,
Answer Given:- 3, Option ID : -839

Subject : GKCA_Q31-Q50_TGTPHE
Question ID:- 211

Who gave the ‘“Atoms for Peace” proposal as a result of which the International Atomic Energy
Agency was established in 1957 ?

(1) Jawaharlal Nehru
(2) Dwight Eisenhower
(3) Aung San Suu Kyi
(4) C.V Raman

“orifd o feru geery)’ =1 yErE feeee e fas woeasy 1957 H Siauei= aeamy] Ssi UsiE] &l $9E
g ?

(1) SE=REE 488

(2) EAmEE SFHTRIA
(3) 3 HE g Hl

(4) H&E wE
Options:-

.1, Option ID :- 841,
« 2, Option ID :- 842,
. 3, Option ID :- 843,

. 4, Option ID :- 844,
Answer Given:- 2, Option ID : -842

Question ID:- 212

The Strategic Arms Reduction Treaty was signed by which two countries in 1991 ?
(1) USA and USSR

(2) USA and Japan

(3) USA and China

(4) Russia and China
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e <1 <9 g0 = 1991 § 9mftes sfoar werd dfa W wser feg e &2
(1) FUHT R JCHCHAR

(2) FUHT 3R ST9E

(3) FUHC SR =

(4) ®F AR FH
Options:-

.1, Option ID :- 845,
« 2, Option ID :- 846,
. 3, Option ID :- 847,

« 4, Option ID :- 848,
Answer Given:- 1, Option ID : -845

Question ID:- 213

What is the NIPUN Bharat Mission launched in July 2021 by the Government of India ?
(1) Mission on Foundational Literacy and Numeracy

(2) National Apprenticeship Promotion Scheme

(3) Mission on Craftsmen Training

(4) Action Plan for skilling of marginalized groups in India

WA LR BRI e, 2021 § gF  foran an fgun (NIPUN) s foee = & 2
(1) et e R deame geE fovm

(2) T gy deEET s

(3) Toreusr gforeor Het faem

(4) 9T H Hid SHE F BT F (6 F A
Options:-

.1, Option ID :- 849,

« 2, Option ID :- 850,

. 3, Option ID :- 851,

. 4, Option ID :- 852,
Answer Given:- 4, Option ID : -852

Question ID:- 214
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Consider the following statements regarding India’s economic responses to challenges posed by
the Covid-19 pandemic ?

(a) India adopted the ‘Barbell Strategy’ to meet the challenge posed by the pandemic

(b) There was total reliance on demand management rather than focussing on supply-side
reforms

Choose the correct answer from the codes below :
(1) (a) is correct but (b) is wrong

(2) (a) is wrong but (b) is correct
(3)

(

4) Neither (a) nor (b) is correct

Both (a) and (b) are correct

wiferg-19 TR § 0= FHIfadl & ufd urd =1 il gfdferan & gy § frfafad woE w faur
hifsu |

(a) 9 A TeEmR ¥ 30 g ¥ e & fon  snee s e |

(b) 3mIfd H GUR W =4 <A 1 9o H4E JaEE W g0 aa fedn )

e T T %2 § W& IR H FIT Fife |

(1) (a) W&l § fohg (b) Ted B

(2) (a) T € foig (b) W& B

(3) (a) ¥R (b) ST =& ¥

(4) (a) 3R (b) ST H | F1E +ff WL & §
Options:-

.1, Option ID :- 853,
« 2, Option ID :- 854,
. 3, Option ID :- 855,

« 4, Option ID :- 856,
Answer Given:- 4, Option ID : -856

Question ID:- 215

Consider the following statements :

(a) Indian Constitution does not allow the State to confer any title except for military or academic
distinctions.

(b) A recipient of the ‘Bharat Ratna’” in India can use the honour as a prefix or a suffix to his or
her name.

Choose the correct answer for the codes below :

(1) (a) is correct but (b) is wrong

(2) (a) is wrong but (b) is correct

(3) Both (a) and (b) are correct

(4)  Neither (a) nor (b) is correct
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Frefafaa oA w fagr Fifsm)

(a) I %1 WigL T 1 S steren v TEOEI 1 DT o I 3N I H smfa T v
(b) HRd H WA T 9T LA AT ST 19 o SUE AR G oF Y | 6 A 1 WA FL Hhal ¢ |
= feU 70 e ¥ W& I A =TI FifSU)

(1) (a) W&l fehg (b) Ter@ 21

(2) (a) T € g (b) W ©

(3) (a) 3R (b) ST w&l £

(4) (a) 3R (b) S H T =S off WEl & B
Options:-

.1, Option ID :- 857,
« 2, Option ID :- 858,
. 3, Option ID :- 859,

. 4, Option ID :- 860,
Answer Given:- 2, Option ID : -858

Question ID:- 216

The material developed by Alexander Parkes in 1862 from hegted cellulose was world's first use of

Rubber

(1)

(2) Plastic

(3) Silicone

(4) Latex

TeTai &1 9Tehd §R1 99 1862 H TH frT e Heend | famrfag amef o1 ferea =l wgen wAM

o

(1) W

(2) TS

(3) fafeep

(4) FTHfd-gY ()
Options:-

.1, Option ID :- 861,
« 2, Option ID :- 862,
. 3, Option ID :- 863,

. 4, Option ID :- 864,
Answer Given:- 2, Option ID : -862

Question ID:- 217
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Which among the following statements about the ‘Green Revolution” in India is incorrect?

(1) It was not a food sufficiency initiative

(2) It was based on a strategy of using high-yielding variety seeds to increase production

(3)  The effect of the Green Revolution on agricultural growth was the highest in wheat production
(

4)  As part of the initiative, the Government gave a guarantee to buy the produce of the farmers
at a given price

wRa H ‘gfta wifa’ o w1 § frefafe § 9 S0 91 w9 58 T8 2 2

(1) I @ra yaif 9ea =&l o |

(2) I% S S 9@ & ot 3=-UgER arel freT % slisil o1 YoM 7 i S W e of |
(3) FuH afg W efa wifa w1 gue 7 S | gaifus o

(4) UEA % Tk YR & &Y H, YhHR 7 FRIHI i1 3951 il Yo« Hod T EleH i T2 & o |

Options:-

.1, Option ID :- 865,
- 2, Option ID :- 866,
. 3, Option ID :- 867,

- 4, Option ID :- 868,
Answer Given:- 1, Option ID : -865

Question ID:- 218

Which of the following pairs of names of countries and the currency they follow are incorrectly
matched ?

(1) Argentina - Peso
(2) Brazil - Forint
(3) Estonia - Euaro
(4) Ghana - Cedi

<9 1R IR I ST9AE TE HE % A9 At frefafad i § |/ S 3 g w6 e w8 6wl f2

(1) S - T

(2) @Tsi - HfE

(3) = - o

(4) HFI - HEl
Options:-

.1, Option ID :- 869,
« 2, Option ID :- 870,
. 3, Option ID :- 871,

. 4, Option ID :- 872,
Answer Given:- 2, Option ID : -870

Question ID:- 219
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Consider the following statements regarding CITES :

(a) CITES is an international agreement between different governments called the Convention
on International Trafficking of Endangered Species of Wild Fauna and Flora (CITES).

(b) CITES ensures that species of animals and plants remain protected.
(c) Dolphins and Orchids are species protected by CITES.

Choose the correct answer from the codes below :

(1) only (a)

(2)  only (a) and (b)

(3) only (b) and ()

(4) only (a) and (c)

&1 & § w9 (CITES) & Hay ¥ f=fafaa oAl w fa=r wifew)

(a) W A€ 21 § @ fafa= wenl & d9 Sy g Sieskg 8 awefa & e gefadl &
AR eyt ST (CITES) U# ST gHeEar 1

(b) 2T 3 T v 7% gHfvea & & 6 Sed ot 9 w5 e giiay |

(c) eifew sin siifhe = o 9t € wq g Hifea geifaar €

= fSU T FE 9 W& ST A =TI Fife |
(1) 94 (a)

(2) e (a) AR (b)

(3) ae (b) 3 (o)

(4) HAE (a) N (c)
Options:-

.1, Option ID :- 873,
« 2, Option ID :- 874,
. 3, Option ID :- 875,

. 4, Option ID :- 876,
Answer Given:- 4, Option ID : -876

Question ID:- 220

Which two parties signed the “Act of Union’ in 1707 which resulted in the formation of the “United
Kingdom of Great Britain” ?

(1) England and Scotland

(2) England and the Republic of Ireland
(3) Northern Ireland and Wales

(4) Wales and Southern Ireland
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o =1 <ol A 9 1707 H 'TH ST g’ W sEmeR oy e waseey (gaeee e e Ue fae”
1 TS T3 ?

1) Ewig o Whieeis

Options:-

.1, Option ID :- 877,
« 2, Option ID :- 878,
. 3, Option ID :- 879,

. 4, Option ID :- 880,
Answer Given:- 2, Option ID : -878

Question ID:- 221

Which of the following films made in 1976 was set in the backdrop of the White Revolution in
India ?

(1) Tamas
(2) Manthan
(3) Udaan
(4) Aarohan

Id § 3 if-d i Teyff W 1976 § it fheq ot of ?

(1) 98
(2) HA
) RE
(4) SR

Options:-

.1, Option ID :- 881,
- 2, Option ID :- 882,
. 3, Option ID :- 883,

. 4, Option ID :- 884,
Answer Given:- 4, Option ID : -884

Question ID:- 222
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Consider the following statements regarding Indian classical dance :

(a) A dance form is considered classical if it adheres to the guidelines laid down in Natya Shastra

(b) The Sangeet Natak Akademi conferred the classical status to Sattriya Nritya making it the
eighth Indian classical dance style in 2000

Choose the correct answer from the codes below :

(1) only (a) is correct

(2) only (b) is correct

(3) Both (a) and (b) are correct

(4)

4)  Neither (a) nor (b) is correct

TR WA e o 9§ fefafad e w faen S

(a) foredt 7o Sreft =1 et ot | S @ St A e § feg e feen fAdsi @ o e 8

(b) TG TS STRGHT 7 FH 2000 H TARAT T 1 AT T H TSN aohl 39 STMSAT WRATT T
T e ST

el feU 7T e 1 YA A U HEl ST A FUT il |

(1) I (a) & T

(2) FHadA (b) DRI

(3) (a) ¥R (b) T =& ¥

4)  (a) 3R (b) S ° § FE T T ¥

Options:-

.1, Option ID :- 885,

« 2, Option ID :- 886,

. 3, Option ID :- 887,

. 4, Option ID :- 888,
Answer Given:- 3, Option ID : -887

Question ID:- 223

Who among the following has been awarded a one-time Sangeet Natak Akademi Amrit Award
under Azadi Ka Amrit Mahotsav (AKAM) in the field of Hindustani Instrumental (Violin) ?

(1) Makhan Chandra Borah
(2) Raghubir Mallik

(3) Suman Kumar

(4) Minoti Khound
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frefafed 8 | 70 ard arrE (aafas) & 93 9 STerd! 1 319d Teicd (AKAM) & Siaifd wharet
T ek STRIGHT Sd [ERR W Tk 7 7 2
(1) HEA 9= 91

(2) TgER HfewTs

(3) AT HHAR

(4) ToIT Eig
Options:-

.1, Option ID :- 889,
« 2, Option ID :- 890,
. 3, Option ID :- 891,

« 4, Option ID :- 892,
Answer Given:- 1, Option ID : -889

Question ID:- 224

Which of the following statements is incorrect about the function of a Control unit in a
computer ?

(1) It coordinates between the input and output devices of a €Computer.
(2) It does actual processing of data.

(3) It tells when to fetch the data and instructions, what to do, where to store the results, the
sequencing of events during processing etc.

(4) It holds the CPU’s Instruction Set, which is adist of all operations that the CPU can perform.

U FR § FRre AT % HH o o HAetened § § I 9wy g6 A6 2

(1) 98 H & 3992 iR sTeeye feany # ga=a wnfud e §1

(2) U EIEI H arafas TR HEne |

(3) ¥@ IRATHT % S 1 SR ST e UIE H3d €, 1 FIAT S, IROTH] i FaEl LR AT T a1 62
1 HER T fe o FH S 2|

(4) TE 9 g F R G2 H U0 HI & S I G STTReEY H g et & 9 ot g 6 wehdl
i

Options:-

.1, Option ID :- 893,
« 2, Option ID :- 894,
. 3, Option ID :- 895,

. 4, Option ID :- 896,
Answer Given:- 3, Option ID : -895

Question ID:- 225
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From which of the following African countries eight Cheetahs were brought and introduced into
Kuno National Park in September, 2022 ?

(1) South Africa
(2) Namibia
(3)

(

4) Tanzania

Botswana

A T A § faawer, 2022 9 18 = 9 oIl <9 9 @ T 8 ?

(1) =fero saftmem
(2) I

(3) HZEET

(4) s
Options:-

.1, Option ID :- 897,
« 2, Option ID :- 898,
. 3, Option ID :- 899,

« 4, Option ID :- 900,
Answer Given:- 2, Option ID : -898

Question ID:- 226

As per Remittances Brave Global Headwinds Report by World Bank Group released in November
2022, which of the following countries 1§ expected to see the top recipient for remittances in
2022 ?

(1) China
(2) India
(3) Nigeria
(4) Mexico

fava d 99 §F FoER, 2022 H SR {HTS 59 e ceiaad fure o 791 4 2022 § f7g S &
SAIYOT H S Y 1@H shi H9ET § 2

(1) ==

(2) ¥

(3) HArsSifEn

(4) it
Options:-

.1, Option ID :- 901,
« 2, Option ID :- 902,
. 3, Option ID :- 903,

- 4, Option ID :- 904,
Answer Given:- 3, Option ID : -903
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Question ID:- 227

Which of the following statement (s) is/are correct about Range of Hearing ?

(a) The audible range of sound for human beings extends from about 20 Hz to 20000 Hz.
(b)  Children under the age of five years can hear upto 25000 Hz.

() Sounds of frequencies below 20 Hz are called Ultrasound.

Choose the correct answer from the codes below.,

(1) only (a) is correct

(2) only (a) and (c) are correct
(3) only (a) and (b) are correct
(4) only (b) and (c) are correct

g W & o) H fFrefafen § 9 $F 98 wue w8 2E?
(a) THa % fau =af &t gaU-Ara " T 20 Hz F 20000 Hz B
(b) 5ad ¥ FH Y F T 25000 Hz T T Thd & |
() 20 Hz 3 %9 i ergfa aret safrai vaeaft sweard &1
= feu Tu we H H WE IR A |

(1) ad (a) T&I T

(2) ad (a) 3R (c) T T

(3) A (a) AR (b) e T

(4) FHad (b) 3R (o) TE T

Options:-

.1, Option ID :- 905,

« 2, Option ID :- 906,

. 3, Option ID :- 907,

- 4, Option ID :- 908,
Answer Given:- 2, Option ID : -906

Question ID:- 228

What is the angle in which the axis of Earth is inclined to its orbital plane ?
(1) 235°

(2) 27.5°
(3) 66.5°
(4) 72.5°

% A 91 H © Ay gest # s1e1 39 Fefd gHTd W A Sl © 2

(1) 23.5°
) 27.5°
(3) 66.5°
(4) 72.5°

Options:-
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.1, Option ID :- 909,
« 2, Option ID :- 910,
. 3, Option ID :- 911,

« 4, Option ID :- 912,
Answer Given:- 3, Option ID : -911

Question ID:- 229

Consider the following statements regarding Sreeja Akula, one of the most outstanding Table
Tennis players from India :
(a) She is the winner of Gold Medal (Mixed Doubles) in Commonwealth Games, 2022.

(b) She is the winner of Silver Medal (Women's Doubles) in Commonwealth Championship,
2019.

(c) She was awarded the Arjuna award in the year 2021.

Choose the correct statement/s from the codes given below :
(1) only (a) and (b)

(2) only (a) and ( )
(3) only (b) an
(4) only ()

A ! Haifesh 3t e 2fa faenfedl # 9 wF disn Sgpen % an § Frafafed weEi ® faur
i

(a) % UZHEd e, 2022 H w@viges (fafaq gae) i fasid g1

(b) =% TegHead S, 2019 § o ggsh(Agen ) Fi fasm g1

(c) 39 ad 2021 H S YRR UG fhaATan o)

e fU T e ¥ W& FYA 1 T4 FI6U |

(1) e (a) 3 (b)

(2) FAE (a) 3 ()

(3) = (b) 3R (0)

(4 FaE (o)
Options:-

.1, Option ID :- 913,

. 2, Option ID :- 914,
. 3, Option ID :- 915,

. 4, Option ID :- 916,
Answer Given:- 2, Option ID : -914

Question ID:- 230

What is the theme of the 108™ Indian Science Congress held in January 2023 ?

(1) “Science and Technology for Sustainable Development with Women Empowerment”.
(2) “Science and Technology for Sustainable Development”.

(3) “Science and Technology for Women Empowerment”.

(4) “Science, Technology and Inclusive Development”.
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e, 2023 H SIS 1089 IR Toa e 1 get faw (o9) #0182
(1) ‘wfeen TwfFso & A9 Taq fow 3 fa9m siw geifmer’

(2) ‘wad faem % o famm SR grafe’

(3) ‘ufeen gufwe & fon fomm ok drnfret’

(4) ‘fagm, dreifret SR gaEe fawy’

Options:-

.1, Option ID :- 917,

. 2, Option ID :- 918,

. 3, Option ID :- 919,

. 4, Option ID :- 920,
Answer Given:- 1, Option ID : -917

Subject : RA _Q51-Q70_TGTPHE
Question ID:- 231

Choose the missing letter cluster from the given series that follows, the same sequence ?

TOP, SMM, NIG, JGD, EEA
(1) RLN

(2) RKK

(3) QKN

(49 QK]

== S e H W & WHE 1 FA iy S8 U F@l deh or] 2l @ |

TOP, SMM, NIG, JGD, EEA
(1) RLN

(2) RKK

(3) QKN

(4 QK]

Options:-

.1, Option ID :- 921,
. 2, Option ID :- 922,
. 3, Option ID :- 923,

. 4, Option ID :- 924,
Answer Given:- 4, Option ID : -924

Question ID:- 232
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Five friends A, B, C, D and E appeared in five different entrance exams P, Q, R, Sand T (not
necessarily in the same order ). ‘A’ did not appear in exam ‘S” but wished good luck to ‘D’ for
exam ‘Q’". ‘B’ appeared in ‘R’. ‘C’ neither appeared in exam ‘S’ nor in exam “T". Who appeared
for exam ‘P’ ?

1 A
2 C
(3) E
4 D

79 fo3 A, B, C, D iR E = fafi= oo 9damsii P, Q, R, S 3R T (ZH #9 d &) § qm e §1°A%, ‘S’
Tdven # AT e o € g D’ W Q wien % o ‘veets’ et 1B, ‘ROTheT H 9 S §1°C, A A
‘S qdte B SR A BT e H 9 oidl 71D 9hEn § i nT o £ 7

() A
2 C
(3) E
(4 D
Options:-

.1, Option ID :- 925,
« 2, Option ID :- 926,
. 3, Option ID :- 927,

. 4, Option ID :- 928,
Answer Given:- 2, Option ID : -926

Question ID:- 233

A given statement is followed /by two tourses of action numbered I and II. It is assumed that
everything in a statement is true then decide which of the courses of action logically follow (s) for
pursuing ?

Statement : A very few youngsters choose sports as their career option.

Course of action :

(I)  Sports should be made compulsory at higher education level.

(II) Affordable facilities should be made available at all districts of State.

(1)  Only (I) follows

(2) Only (II) follows

(3) Both (I) and (II) follow

(4) Neither (I) nor (II) follows
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T UF FYF o T T SR S e S Al 1 iR 1S T € | 3 T e fomn S fF wem i e e
weE & @ 7 o Fife fF A1 wiemRdl § ¥ e W FiaE afhe w9 " F S g 28 2
HYT:  9gd HH A9EE WA I ST FA fosmes gd E
wRAE: (1) SR e 'R W @ 1 afard sEe s e
(1) T & 94t el | g glaumd 3uesy Ut SEl AfE )

(1) had (1) I ST Eehdl 8

(2) e (II) 1 <1 Fehell ©

(3) (1) SR (1m), ST = ST TRl §
(4) TFH G FE off 7 S I 2

Options:-

.1, Option ID :- 929,
« 2, Option ID :- 930,
. 3, Option ID :- 931,

. 4, Option ID :- 932,
Answer Given:- 2, Option ID : -930

Question ID:- 234

Six siblings A, B, C, D, E and F are studying in different ¢lassés from first to sixth class. (no two
siblings are studying in the same class). ‘A’ is one class sentor to ‘B’. ‘C” is two classes senior to ‘E’.
‘F’ is three classes senior to “E". “A’ is either in first ot second class. If ‘F’ is the senior most sibling
then who is studying in class three ?

(1) B
(2) C
3) D
4) E

TE WE- A, B, C, D, E SIE Ugell & ol waf T 27eT-7er =ansii § wgE w2 © €1 (FE off are-a
T & e H T8 Ug W E) 1YA7, ‘B Y U FRN M §1°C, E Y S HEH MW TN F, E Y A FRI M
‘A’ T TRt e H ¥ e gEd e H | Afg P E-oedi § Ted oSl § o wel O § HE UgE T @
®?

HO O

Options:-

.1, Option ID :- 933,
« 2, Option ID :- 934,
« 3, Option ID :- 935,

. 4, Option ID :- 936,
Answer Given:- 4, Option ID : -936

Question ID:- 235
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‘M’ is brother of ‘N’ and ‘O’ is sister of ‘M’. ‘K’ is brother of ‘L. ‘N’ is mother of ‘L’. How is ‘O’
related to 'K’ ?
(1) Paternal Aunt

(2) Maternal Aunt
(3) Mother
(4) Sister
M, ‘N’ T 9E & 3R ‘O, M I I8 B 1K, ‘L hT 9 B 1N/, ‘L it ATl 8 1°0° 1 ‘K’ 8 s Geiy & ?
(1) ==
(2) =
(3) Hml
(4) ¥
Options:-

.1, Option ID :- 937,
« 2, Option ID :- 938,
. 3, Option ID :- 939,

. 4, Option ID :- 940,
Answer Given:- 2, Option ID : -938

Question ID:- 236

A watch shows the time of 10 : 15 hours (10 houts 15 minutes ). If the minute hand points South,
in which direction will the hour hand point ?

(1) North West

(2) North
(3) North East
(4) East

T =2t 10 : 15 (10 "2 15 fie) =1 w9 @i €1 afe fome = |3 afem =it SR Ea shedt @ o |oe =61
T3 forw foum =it oir fma e 2

(1) W Sfrm
(2) W
(3) SWYE
(4 Td

Options:-

.1, Option ID :- 941,
« 2, Option ID :- 942,
« 3, Option ID :- 943,

. 4, Option ID :- 944,
Answer Given:- 3, Option ID : -943
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Question ID:- 237

A delegation of four language teachers (two from each language ) to Nepal has to be chosen from
seven post - graduate teachers. A, B, and C are the teachers of English and P, S, Rand T are the
teachers of Hindi. Either B or P can only be chosen. C cannot go with S. P and R do not like each
other. If P is chosen for the delegation who are the other members of the delegation ?

My ACT

(2) BCT
3) ABS
4 ACS

HId FTAhIR AR § § T S el fredsd § =R o s1eaTs (Ues 9™ 81 g1 TH e 1A,
B 3R C 3iIsfl % 91 P, S, R 3R T few< & sveamuas €1 /B’ 1o@ ‘P o 9 fordt u &l g s gahal €1°C,
‘S’ o HI TR S HWekell © 1P @R’ UH-GH 1 UHE A Hid 7 | 4G ‘P 1 Rreded & faw g9 S ®
91 forerea & 3171 9ew whiv gl ?

(1) ACT
(2) BCT
(3) ABS
(4) ACS
Options:-

.1, Option ID :- 945,
« 2, Option ID :- 946,
. 3, Option ID :- 947,

. 4, Option ID :- 948,
Answer Given:- 1, Option ID : -945

Question ID:- 238

In a certain code language ‘@ARBON’ is written as ‘EDTEQQ’ then how will ' BORROW" be written
in that language ?

(1) ERUURZ
(2) DRTUQZ
(3) EQUTQZ
(4) DQUTQV

e Te 2 9 H ‘CARBON’ &1 ‘EDTEQQ’ % &4 H forwn =il 2 ot fii 361 v § ' BORROW” =1 fohd
gep Tt smam ?

(1) ERUURZ

(2) DRTUQZ

(3) EQUTQZ

(4) DQUTQV
Options:-

.1, Option ID :- 949,
« 2, Option ID :- 950,
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. 3, Option ID :- 951,

« 4, Option ID :- 952,
Answer Given:- 2, Option ID : -950

Question ID:- 239

From the given alternative words, select the word which cannot be formed using the letters of the
given word.

INSTRUCTION
(1) STRONG
(2) TRUST
(3) SORT
(4) CRUST

= feu U famedi O 9 39 Vg &1 994 shifan f99 fou U v & S1erdl o1 WA ek el o S gahdr
272

INSTRUCTION

(1) STRONG

(2) TRUST

(3) SORT

(4 CRUST
Options:-

.1, Option ID :- 953,
« 2, Option ID :- 954,
. 3, Option ID :- 955,

« 4, Option ID :- 956,
Answer Given:- 1, Option ID : -953

Question ID:- 240

Given below is a question followed by two statements numbered I and II, each containing some
information. Decide which of the statement (s) is/are sufficient to answer the question ?

In which year was Mala’s sister born ?

Statement I :  Mala’s sister is 2 years younger than Manoj who was 5 years older than Mala
and born in 1997.
Statement II : Mala was born in 2002 who is three years younger than her sister.

(1) The statement I alone is sufficient to answer the question while the statement II alone is not
sufficient to answer the question

(2) The statement II alone is sufficient to answer the question while statement I alone is not
sufficient to answer the question

(3) Both statements I and II together are necessary to answer the question
(4) Either the statement I alone or statement II alone is sufficient to answer the question
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= T wv T T & TS 916 =1 e 1SR 1L R 7 €, f9H yeis § %@ S €17 § | Y 98
Tt ifSe for ®F T/ w9 9997 &1 ST 87 & fou 3t & 2

Hrell 1 de 1 S fore o o gay o ?
HUT[: A B FE HAS | 299 DRI S A | 594 921§ 3R SHA S 1997 H go A1}
WY I1: Tl 1 579 2002 H 241 S 219+ ofeq B oA o S 2

(1) YA - 1 37ehe] T &1 ST o o [Tl T & Safch Y - [1 3Tehel I o1 32 o o foTl waie 78l
7l

(2) R - 11 3Thel WA 1 ST o7 o fAQ 92 § STalfeh 9 - 1 3Tohel U9H o1 I o4 o fofe 9ot =7el
gl

(3) U -1 3T HUA - 11 SHI Tk TN JIH o1 ST o7 o felw Smavas & |

(4) RYT - I 3Tehcl 11 R - 1 3Tehel T &1 IR 24 * o g4 21

Options:-

.1, Option ID :- 957,
« 2, Option ID :- 958,
. 3, Option ID :- 959,

- 4, Option ID :- 960,
Answer Given:- 4, Option ID : -960

Question ID:- 241

Three statements are followed by two conclusions fwmbered I and II. Find out which of the
conclusions is/are true based on the given statements.

Statements : M=N
O>P=M
K<N
Conclusions: (I) N<O
I P>K
1) Only (I) is true

Only (II) is true
Both (I) and (II) are true
Neither (I) nor (II) is true

— f'(_\- T ——
H= 2
S v ™
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T Tl % a1g §) FreRd - 1 2RI feu e € 1 3w e o fou e wyei F enaR w wE avy ey g@
&2

HIT:  M=N
O>P=M
K<N

ferd: () N<O
() P>K

(1) Fod I9E

(2) Heel 11 9el &

(3) IafIneE wd €

(4) S H F R ot wE T E

Options:-

.1, Option ID :- 961,
« 2, Option ID :- 962,
. 3, Option ID :- 963,

. 4, Option ID :- 964,
Answer Given:- 3, Option ID : -963

Question ID:- 242

Six boys A, B, C, D, E and F are playing board gafie sitting in a circle facing towards the centre.
‘A’ is sitting opposite to ‘B" who is between ‘Cand¥D'. ‘A’ is sitting between ‘E’ and ‘F’. “E’ is to
the left of ‘D" ? Who is sitting opposite tey'D’ ?

(1) A
2) B
3 C
(4) F

TEASH A, B,C, D, E 3T F U 910 H 3TF g il 3 Hg FiF oo alS 1 @A W& 1A/, ‘B’ & A+
BT C ARD FAFGBE 1A, 'E qUT'F F A 9S8 1'E, ‘D’ % ol 3{ 9318 1D’ & 919 i
A3 7?2

(1) A
(2 B
3 C
(4) F

Options:-

.1, Option ID :- 965,
« 2, Option ID :- 966,
. 3, Option ID :- 967,

. 4, Option ID :- 968,
Answer Given:- 4, Option ID : -968

Question ID:- 243
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Two statements are given below and they are labelled as Assertion (A) and Reason (R).
Assertion (A) : Breathlessness is one of the symptoms of Anaemia.

Reason (R) : Anaemia affects the lungs of the human beings.

Select correct answer with the help of code.

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)

(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

= &1 o few e § o srfirenem (A) 2R @k (R) %1 79 fean e &
APURY (A) :  ETH I 1 Th AL & |

ek (R) :  TadIETdl HFE % el F gifad Fiar g1

e i HEHA H Hel 3T 1 = Hifod

(1) (A) 3R (R), 21 W& E 9901 (R), (A) Sl &l =0 2

2) (A) iR (R), 21 T& E fhg (R), (A) T Tt = 74 2

(3) (A) ¥ T g (R) T €1

(4) (A) @ § fRg (R) WE R

Options:-

.1, Option ID :- 969,
« 2, Option ID :- 970,
. 3, Option ID :- 971,

. 4, Option ID :- 972,
Answer Given:- 3, Option ID : -971

Question ID:- 244

If ‘P x Q" means ‘P is daughter of Q’, ‘P+ Q" means ‘Q is wife of P’ and ‘P % Q" means ‘P is mother
of QO', then how is N related to S in the given statement ?

M % N+TxS
(1) Son

(2) Son-in-law
(3) Brother

(

4)  Brother- in- law

g PxQ WA T F P, 'Q AR, P+Q F AL ¥ F'Q, P I Ueh g 9N P%Q w7 & fF
‘P, Q) i AT @ 1 ST 0 e M%N+TxSH ‘N F1'S & 0 Ha ¢ 2

() 9=

(2) <

(3) g

(4) SrST/ETEN
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Options:-

.1, Option ID :- 973,
« 2, Option ID :- 974,
. 3, Option ID :- 975,

. 4, Option ID :- 976,
Answer Given:- 2, Option ID : -974

Question ID:- 245

Seven pets A, B, C, D, E, F and G need to vaccinate but on different days of week starting on
Monday till Sunday (not necessarily in the same order ). ‘F’ is taken for vaccination on Tuesday.
‘B’ is taken for vaccination on the previous day of F. There are three days gap between the days on
which ‘B’ and ‘G’ are taken for vaccination. ‘A’ is taken for vaccination just after ‘D’. There are as
many pets are vaccinated between ‘G” and “A’, as between ‘D" and ‘E’. “E’ is vaccinated before ‘D’
but not just before. Who is vaccinated on Sunday ?

(1) A
@) B
3) E
4) G

e 9 W3 A, B,C, D, E, F 3G &l SR § we Faai do 9w & 1em-31en fed (36t %a o
&) Vet TTE ST | “F’ bl HITETd Sl 21ehT eFTama 1L ‘B’ el ‘F 3 U fod wael Sisht oTar T4 | B
ARG’ I a1 TTaH % fei o == o9 foT o siar 8 A #1 ‘D’ 3 Tehiet SIS 21eh1 SRTamE T4 | /G 3R
‘A’ % S I € TTerq Tet et et ermarn wn f5aer TR D7 oiRCE % ot e eRar T Al ‘E
‘D' H e, Tohg Tohtar vget 7E, et orTaren e, e R i foR SRt erErEn T 2

(1) A
(2) B
) E
4 G
Options:-

.1, Option ID :- 977,
- 2, Option ID :- 978,
. 3, Option ID :- 979,

« 4, Option ID :- 980,
Answer Given:- 3, Option ID : -979

Question ID:- 246

A group of alphabets are given with each being assigned a number. Select the combination of
numbers so that the letters arranged accordingly will form a meaningful word.

A O § R T
1 2 3 4 5

(1) 34512
(2) 41532
(3) 42135
(

4 24513
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= avif =1 usk wE e e § e wores avt o o ue sie fruifea foren o @ 1 59 Hem u9E & e
HIFTT qIfeh 39 TR =raferd fu T 9o § ue Wede eg S 57 94 |

A O S R T

1 2 3 4 5

(1) 34512
(2) 41532
(3) 42135
(4) 24513
Options:-

.1, Option ID :- 981,
« 2, Option ID :- 982,
. 3, Option ID :- 983,

« 4, Option ID :- 984,
Answer Given:- 3, Option ID : -983

Question ID:- 247

The question has two statements followed by two conclusions'humbered I and II. If it is assumed
that the two given statements are true even if they seem tosbe.at variance from commonly known

facts, then decide which of the following given conclusions logically follow (s) from the two given
statements.

Statements : Some chairs are tables.
Some chairs are beds.

Conclusions : (I) Some beds are chairs.
(II) Some beds are fables.

(1)  Only conclusion (I) follows.

(2) Only conclusion (II) follows.

(3) Ei ther conclusion (I) or.conclusion (II) follows.
(4) Both conclusions (I) and (II) follow.

== &1 s feu e § fSue o <1 frep - 1 3iR 11 feu 71w 2 | sruent o2 91 € ok o 1 oo et € 9
% WIE: T a2 9 fa= & =i 9 201 ere e o it T few e wei 9 arfdhe w9 8 e avd
frerd Femerayfererd €1
HIT: PO HEAA A |
F FHAT I F |

e () o vEm FiEE E

(1) FSTETESTEI
(1) Haa frs=d (1) Ferera ©
(2) Heae freRd (1) Feem 1
(3) Tr=rd (1) s frewd (10) frererar 21
(4) femd (1) iR (1) <91 Freerd 1
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Options:-

.1, Option ID :- 985,
« 2, Option ID :- 986,
. 3, Option ID :- 987,

. 4, Option ID :- 988,
Answer Given:- 1, Option ID : -985

Question ID:- 248

If in a certain code language “stone beats scissor’ is written as “XYZ', “scissor beats paper’ is written
as "YWX’ and “paper beats stone’ is written as ‘WZY’, then what is the code used for “scissor’ in this
code language ?

1y W
2 X
(3 Y
4 Z

=g fordt 2 91 H ‘stone beats scissor’ %1 ‘XYZ', % &4 H fel@1 Sid1 8, “scissor beats paper’ &l YWX’
% &9 H a ‘paper beats stone’ HWZY' % &9 H foran s € @ 39 e HqIHl ¥ ‘scissor’ @ feg = EE
ERUAERIRIRIRH

H W

(2 X
3) Y
4) Z
Options:-

.1, Option ID :- 989,
« 2, Option ID :- 990,

. 3, Option ID :- 991,

. 4, Option ID :- 992,
Answer Given:- 2, Option ID : -990

Question ID:- 249

In the following question two positions of the same dice are given. Find the number of dots at the
face opposite to the face having 6 dots.

(o] (o) (o]
o] o ©
@] o 5 o
(0] @] (o] o (o]
(o] (0]
() 1
(2) 4
(3) 5
(4 3
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Frafafad w7 o v 8 =t < fafaar < 7 €)o7 fag 9 wes F faadd o wew W fagst w
e 1 2 7

O o ©
0] (0]
0 0 2 -
@] o (o] o ©
o] 0]
1 1
(2) 4
3 5
4 3
Options:-

.1, Option ID :- 993,
« 2, Option ID :- 994,
. 3, Option ID :- 995,

. 4, Option ID :- 996,
Answer Given:- 1, Option ID : -993

Question ID:- 250

Select the Venn diagram that best represents the relationship’between the following set of classes.
Graduates, Post-Graduates, Teachers

——
oy
e

.@(@@

—
2
—

—_—
e
S
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3 9 ARG 1 =F7F Fifee st Frefafea o0 % 99z % &= & 99y o1 garay T 9 g9 €2

A, EAahT, 31E9%

Options:-

.1, Option ID :- 997,
« 2, Option ID :- 998,
. 3, Option ID :- 999,

. 4, Option ID :- 1000,
Answer Given:- 3, Option ID : -999

Subject : CL_Q71-Q80_TGTPHE
Question ID:- 251

Which of the following is not a popular platform to provide resources for online classes ?
(1) Zoom

(2) Google Meet

(3) Acrobat Reader

(4)  Microsoft Teams
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Frafafea § 9 9 91 e Fanell & [ou S9eE 39 0 61 UF Ahiad WM el o 2
(1) A

(2) T Hi

(3) TWhlee T
(4) HERETR g
Options:-

.1, Option ID :- 1001,
. 2, Option ID :- 1002,
. 3, Option ID :- 1003,

. 4, Option ID :- 1004,
Answer Given:- 3, Option ID : -1003

Question ID:- 252

A is a small image representation of a larger image, usually intended to make it easier
to manage group of larger images.

(1) Compressed image
(2) Thumbnail

(3) Clipart

(4) Bitmap graphic

T ISt IS T Dl 39S v B HEIR W fSwe e a€ g9sl & 99 &1 SEE 9§
Tl FAT S © |

(1) wHFEEE S

(2) g

(3) faegeme

(4) feehy wfrs
Options:-

.1, Option ID :- 1005,
. 2, Option ID :- 1006,
. 3, Option ID :- 1007,

. 4, Option ID :- 1008,
Answer Given:- 2, Option ID : -1006

Question ID:- 253

Which of the following is not a popular example of web based search engines ?
(1) Bing

(2) Edge
(3) Yahoo
(4) Google
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Trefafeaa § 9 9 91 U 99 oneaniid 9= 97 S Al iyg Sesil T8 & 2

(1 fem
(2) TS
(3) ]
(4) T
Options:-

.1, Option ID :- 1009,
. 2, Option ID :- 1010,
. 3, Option ID :- 1011,

. 4, Option ID :- 1012,
Answer Given:- 2, Option ID : -1010

Question ID:- 254

Which of the following is the biggest audio file in terms of storage size ?
(1)  musicmp3 of 100 KB

(2) musicmp3 of 100 MB

(3) music.mp3 of 10 GB

(4) musicmp3 of 1 GB

EIS " & Hed § ffafad § 4 "ol o) SAifei e s | &7

(1) musicmp3 of 100 KB
(2) musicmp3 of 100 MB
(3) musicmp3 of 10 GB
(4) musicmp3 of 1 GB

Options:-

.1, Option ID :- 1013,
. 2, Option ID :- 1014,
. 3, Option ID :- 1015,

. 4, Option ID :- 1016,
Answer Given:- 3, Option ID : -1015

Question ID:- 255

Which of the following software is the default to play audio files in Windows computer system ?
(1) VLC media player

2)  Windows media center

3) Windows media player

(
(
(4)  Quick time Player
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frefafad § 9 #F | diedR e FFger fawn § sifedl wEa © & 1 fewee § 2
(1) = Ter &t Hifsm =i

(2) faem difea 9=

(3) fasis wifean @

(4) Toerer 2EH <R
Options:-

.1, Option ID :- 1017,
. 2, Option ID :- 1018,
. 3, Option ID :- 1019,

- 4, Option ID :- 1020,
Answer Given:- 3, Option ID : -1019

Question ID:- 256

Internet is an example of :

(1) LAN

(2) WAN

(3) PAN

(4) MAN

T e U S § 2

(1) TATTEI (LAN)

(2) ST (WAN)

(3) i T WA (PAN)

(4) THTTE (MAN)
Options:-

.1, Option ID :- 1021,
. 2, Option ID :- 1022,
. 3, Option ID :- 1023,

. 4, Option ID :- 1024,
Answer Given:- 2, Option ID : -1022

Question ID:- 257

Jones De is interested in creating a project report on a document using an open source software.
Which of the following will you suggest for the same ?

(1) MS Word

(2) Calc
(3) Impress
(4) Writer
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S 2t T S99 Wi HeSTR & YA0 e U SiagHe T U Wisige e s =med € | 819 39 fag
3 foraer gema € 2

() TWTETE
(2) hich
(3) =9
(4) WX
Options:-

.1, Option ID :- 1025,
« 2, Option ID :- 1026,
. 3, Option ID :- 1027,

- 4, Option ID :- 1028,
Answer Given:- 4, Option ID : -1028

Question ID:- 258

Which of the following is the most common input device for a robot ?
(1) Sensors

(2) Touch Screen
(3) Scanner

(4) Magnetic Tape

uF Jeie % foru gaifs g gge feary @ @ 27

(1) FE

(2) == BRI

(3) TR

(4) HHfew o
Options:-

.1, Option ID :- 1029,
. 2, Option ID :- 1030,
. 3, Option ID :- 1031,

. 4, Option ID :- 1032,
Answer Given:- 1, Option ID : -1029

Question ID:- 259

Which key combination is used to go to the end of a MS-Word document ?
(1) Ctl+A

(2) Cul+d

(3) Ctrl+End

(4)  Ctrl+Shift+
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U UH U - 98 SAe & 3id | o1 o o o ¥ & -wiee o1 9aeT fomn s 2
(1) Ctrl+A

(2) Cul+d

(3) Ctrl+End

(4) Ctrl+Shift+ |

Options:-

.1, Option ID :- 1033,
. 2, Option ID :- 1034,
. 3, Option ID :- 1035,

. 4, Option ID :- 1036,
Answer Given:- 4, Option ID : -1036

Question ID:- 260

What is the full form of UMANG ?

(1) United Mobile Application for National Governance
(2)  Unified Mobile Application for New-age Governance
(3)  Universal Mobile Application for New-age Governance
(4) Unified Mobile Application for National Governance

I (UMANG) %1 0 719 F1 8 ?

(1) FAESE HiaEd Tehe Hil 96 T8
(2) FATRES HEEEA TEAHIH BR - TS-TTH 9
(3)  FATEEe HISE TR B U
(4) FAIEEES HiSTEe TRl AR T4
Options:-

.1, Option ID :- 1037,
. 2, Option ID :- 1038,
. 3, Option ID :- 1039,

. 4, Option ID :- 1040,
Answer Given:- 2, Option ID : -1038

Subject : PE_Q81-Q180_TGTPHE

Question ID:- 261

Who has defined Physical Education as “Physical Education is the sum of man’s physical activities
selected as to kind and conducted as to outcomes “?

(1)  J. F Williams
(2
(
(

e —

Lumpkin

3 Barrow and Brown

S

4) EH Cock
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wIRiTEr foren =61 37 wssl ° forep g afenfia foem e &

“ gt foren we o wedt TR shemdl, 1 ik wrfefd aftomsi =afa v, & Fm g
(1) “.us, faferm
(2 qEfEa

(3) o R A=A
(4) ZUE FHH

Options:-

.1, Option ID :- 1041,
« 2, Option ID :- 1042,
« 3, Option ID :- 1043,

. 4, Option ID :- 1044,
Answer Given:- 4, Option ID : -1044

Question ID:- 262

Which of the following objective of Physical Education has not been given by National Plan of
Physical Education and Recreation ?

1) Development of organic Fitness

(1)

(2) Development of neuro - muscular Skills
(3) Development of character and personality
(4)

4)  Development of emotion

TTH 9 S 1 I8eT U AR e $liX Tamee/aansH A | gftafad T8 @2
(1) 3T =l ITgFAl 1 T

(2) = ey faem

(3) = iR =afaae =1 fawm

(4) HamHS faw™

3%}

Options:-

.1, Option ID :- 1045,
« 2, Option ID :- 1046,
« 3, Option ID :- 1047,

. 4, Option ID :- 1048,
Answer Given:- 1, Option ID : -1045

Question ID:- 263
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The cognitive objectives of Physical Education includes :

(A) Acquisition of knowledge

(B) Ability to think

(C) Interpreting knowledge

(D) Muscular Fitness

(E) Bedy-control and coordination
Select the correct code :

(1) only (A), (B) and (E) are correct
(2) only (A), (B) and (C) are correct
(3) only (B), (C) and (D) are correct
(4) only (A), (B) and (D) are correct
Wi Torer =1 e 3eva § wefer € -
(A) FE wIf

(B) fa=r wfed faermg
(C) T %1 A FHE

(D) Uefta 3IwgeTal

(E) ¥R 978 3R 994

HE HIS FH =TI HL

(1) = (A), (B) iR (E) & §
(20 Fad (A), (B) 3R (C) @l &
(3) A (B), (C) 3 (D) wel &
(4) FIA (A), (B) 3R (D) Wl €

Options:-

.1, Option ID :- 1049,
« 2, Option ID :- 1050,
. 3, Option ID :- 1051,

« 4, Option ID :- 1052,
Answer Given:- 2, Option ID : -1050

Question ID:- 264



https://aview.in/
https://aview.in/category/previous-papers/

Which of the following is/are correct ?

(A) Endomysium wraps individual muscle fiber.
(B) Perimysium wraps bundles of fibers.

(C) Perimysium wraps individual muscle fiber.
(D) Epimysium enclose the entire muscle.
Select the correct option :

1) only (A), (B) and (D) are correct.

( (
(2) only (A), (C) and (D) are correct.
(3) only (A) and (B) are correct.

( (

4) only (B) and (D) are correct.

frafafes § 0 =@ w8 ©

B) ﬁﬂmmmwmﬁm’%l
Q) ﬁﬁq@nmwwwwmﬁl

Options:-

.1, Option ID :- 1053,
« 2, Option ID :- 1054,
. 3, Option ID :- 1055,

- 4, Option ID :- 1056,
Answer Given:- 1, Option ID : -1053

Question ID:- 265
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Which of the following is /are correct ?

Statement (I) : In a anaerobic reaction of glycolysis, glucose molecules are converted into pyruvic
acid through multiple steps.

Statement (II) : During glycolysis if oxygen supply is depleted, the pyruvic acids converted into
Lactic acid .

Select the correct option :

(1) Both statements (I) and (II) are correct.

(2) Both statements (I) and (II) are incorrect.

(3) Only statements (I) is correct.

(4)  Only statements (II) is correct.

Frefafad Foe § #6098 ¥

H () : TSI % TRifere Ufafewan o et ST ¢ wRuiH el o | uiafdd g s
gl

Fe () : T[St o SR ATg SRS et Bt § 1, WEeies o7 aifees otve § giafdd & s
gl

el faseq 94 :

(1) (1) 3R (1) SHT BT &
(2)  (I) 3R (ID) S TTerd )

(3) FHad (I) Wl T
(4) Had () 9 7 |
Options:-

.1, Option ID :- 1057,
. 2, Option ID :- 1058,
. 3, Option ID :- 1059,

. 4, Option ID :- 1060,
Answer Given:- 1, Option ID : -1057

Question ID:- 266
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Which of the following is/are correct ?

(A) Gas exchange takes place at the alveoli.

(B) During expiration the external intercostal muscles and diaphragm undergo contraction.
(C) The largest amount of air that can be exchanged in the lungs is known vital capacity.
Select the correct option :

(1) only (A) and (B) are correct.
(2
(3
(4

(
) only (A) and (C) are correct.
) only (B) and (C) are correct.
) (

only (A) is correct.

W& FUH T

(A) TaferEEl § 19 sIeH-UaH gl 81

(B) THTTNEM % SNF, T8 Sethd THd Sit SHTEM H HEeEt e g

(C) Wwwe H fafraftd feran ST a1en a1g &1 Afushad |4En aE2e &THdl el @ |
e fasrey =4

(1) (A) ¥R (B) 52
(2 (A) RO FAE
(3 (B) 3R (C) T &
(4) Hae (A) TA 2

Options:-

.1, Option ID :- 1061,
. 2, Option ID :- 1062,
. 3, Option ID :- 1063,

. 4, Option ID :- 1064,
Answer Given:- 2, Option ID : -1062

Question ID:- 267

Which of the following veins does not empty into the right Atrium ?
(1) Superior venacava
(2
(3
(

Inferior venacava

—

Coronary sinus

4) Pulmonary veins
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%t for gl oftwre § areft @ s 22
(1) =<t merfom

(2) BrA HRIRWK

(3) I HETE ggH T

(4) FHEE fer

Options:-

.1, Option ID :- 1065,
« 2, Option ID :- 1066,
. 3, Option ID :- 1067,

. 4, Option ID :- 1068,
Answer Given:- 4, Option ID : -1068

Question ID:- 268

Which of the following is not correct ?

(1) Tricuspid valve is an atrioventricular valve.
(2) Biccuspid valve is an atrioventricular valve.
(3) Semi-lunar valves are atrioventricular valve.
(4) Mitral valve is an atrioventricular valve.

[ 91 FYT T ol ©
(1) ITFHAfTE aed TfzeZiger aed 2|
(2) daEFETS GeE eEipaacd |

(3) iR Alcd UfzeieaiheR Jed ¢ |
(4) fogeEcs wfesiadigat aea g1

Options:-

.1, Option ID :- 1069,
« 2, Option ID :- 1070,
. 3, Option ID :- 1071,

. 4, Option ID :- 1072,
Answer Given:- 2, Option ID : -1070

Question ID:- 269



https://aview.in/
https://aview.in/category/previous-papers/

1)
)
)
2

v

(
(
(
(

Which of the following is not correct about heart conduction ?

Impulses are distributed to the atrial tissues from SA node
Atrioventricular node is located between the two atria.
Impulses reaches from SA node directly to the purkinje fibers.

Purkinje fibers are known as bundle of HIS.

IR TI F T T FA T FH ITITA© ?

TIQATES SA e T anfeael 9] i & Sl g |
AETSAETEIRR g a1 Ui & 0o fo &)

Tfeds SA e ¥ et wiF— wesr § ugadt
TRt R W1 HIS (TH, 3ME, TY) o sieet ot ed & |

Options:-

.1, Option ID :- 1073,
« 2, Option ID :- 1074,
. 3, Option ID :- 1075,

. 4, Option ID :- 1076,
Answer Given:- 3, Option ID : -1075

Question ID:- 270

Dun‘ng digesﬁon glucose is broken down into™

(1)  Glycerol

(2) Starch

(3) Amino acids

(4) Fatty acids

TP (TEAfeRAr) H TTesS T fagfed g 81
(1) T

(2 =

(3) FHH 37

(4) I e
Options:-

.1, Option ID :- 1077,
. 2, Option ID :- 1078,
. 3, Option ID :- 1079,

. 4, Option ID :- 1080,
Answer Given:- 1, Option ID : -1077
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Question ID:- 271
Which of the following is not a psychological benefits of physical activity ?
1) Improve cognitive functioning

(
(2) Enhance self-confidence and self-esteem
(3) Enhance mood

(

4) Enhance state and trait anxiety

Frfafad § wF-w | Tt o s e wam 9 5@ foem ?
(1) HaFrEs frameiad 5§ guR

(2) SATHTYIE AR e W@t | gig

(3) Taagfa & gum

(

4) ferfa ofr gfa =i gfiea & gur

)
)
Options:-

.1, Option ID :- 1081,
. 2, Option ID :- 1082,
. 3, Option ID :- 1083,

. 4, Option ID :- 1084,
Answer Given:- 4, Option ID : -1084

Question ID:- 272
Which of the following is not corréct'about drive theory of Motivation ?

1) Primary drives inherited.

(

(2) Secondary drives are learned.

(3) Primary drives involve no learning.
(

4)  Primary drives are largely psychological.

FFIITO % =T (Drive) g & fawm 8 i FoA 98 78 & ?

(1) HEAYd IF ded A9 & |

(2) fadta TR Wi Sd 2

(3) HAYT W dcal H e T dan
(4) TEYT W T A T 2 |
Options:-

.1, Option ID :- 1085,
- 2, Option ID :- 1086,
. 3, Option ID :- 1087,
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. 4, Option ID :- 1088,
Answer Given:- 3, Option ID : -1087

Question ID:- 273
Which of the following are correct about Motivation ?
(A) Love for activity is intrinsic motivation.
(B) Monetary gain is external motivation
(C) Motivation is a general level of arousal of action.
(D) Primary motivations are not biological motivation.
( Social motivations are also known as ‘reinforces’.

Select the correct options :

(1) only (A) and (B) are correct.

(2) only (A), (B), (C) and (E) are correct.
(2) only (B), (C), (D) and (E) are correct.
(2) only (A), (D) and (E) are correct.

g % faw § wF @ FU 9" €

(A) foran e & fore Im staftes sifron 2 )
(B) aIMeeR o1 STedl STfHon B

(C) fIRon &1 & foTg T W’ IR SHeT 2 |
(D) Haya SAfeson s sty =& &)
(E) @rifses sAfsron grewm, i

& faseq =94

(1) ad (A) 3R (B) T €1

(2) hEd (A), (B), (C) ¥R (E) ¥ F|
(3) %9 (B), (C), (D) 3R (E) ¥4 |
(4) HAEA (A), (D) 3R (E) T €|

Options:-

.1, Option ID :- 1089,
. 2, Option ID :- 1090,
. 3, Option ID :- 1091,

. 4, Option ID :- 1092,
Answer Given:- 2, Option ID : -1090

Question ID:- 274
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Who has defined sports training as “Sports Training is the basic form of preparation of Sportsmen” ?

(1) Martin

(2) Harre

(3) Matwejew

(4) Thiessand Schnabel

‘g aftrem Yoy # fgerel IR 2 1 wd g o R 9 veeR afnfia fen €2

(1) e

(2) =W

(3) A
(4) TordE sHae
Options:-

.1, Option ID :- 1093,
« 2, Option ID :- 1094,
. 3, Option ID :- 1095,

. 4, Option ID :- 1096,
Answer Given:- 2, Option ID : -1094

Question ID:- 275

Physical fitness is sum of which of the following five motor abilities ?

1) Strength, speed, agility, fléxibility"and endurance.

3

(

(2) Strength, speed, agility, goserdinative ability and reaction time.
(3) Strength, co-ordinativeability, flexibility, speed and endurance
(

4)  Flexibility, speed, endurance, agility and body composition.

I W T MHE A 1 GHE URIRE & @

(1)  Tehd, 7Ifd, Wdiel 9, ST ST Feerw

(2) kA, T Fetemad, WEE amar S wfdfwe e
(3) TTeRd, T &1, SrEred, TIfa SR T &7

(4) T, T, TE A, e S e T

Options:-

.1, Option ID :- 1097,
. 2, Option ID :- 1098,
. 3, Option ID :- 1099,
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- 4, Option ID :- 1100,
Answer Given:- 2, Option ID : -1098

Question ID:- 276

During running the parameters of training load for intensity and volume will be :
(1) Distance and duration of training,

(2) Speed and duration of training,

(3) Distance and frequency.
(

4)  Speed and frequency.

Q1€ % SR UfIe o fore AIY gUe W e SR SATeTehal o fod Sivaa fean smam -
(1) & &R gfereron w1e
(2) TIfd iR afoe e

(3) gl SR faawan
(4) g ofR fRaa
Options:-

.1, Option ID :- 1101,
« 2, Option ID :- 1102,
. 3, Option ID :- 1103,

. 4, Option ID :- 1104,
Answer Given:- 4, Option ID : -1104

Question ID:- 277

In the intensive interval training, training intensity, recovery and volume will be :
(1) 80-90%, 60-90 sec and 5-10 repition/series.
(2
(3
(

—

60-90%, 60-90 sec and 8-10 repition/series.

—

80-90%, 90-180 sec and 8-12 repition/ series.
4)  60-80%, 45-90 sec and 20-25 repition/ series.

e sT=arel wivern 3§, Hieator died], YR SR geeed 2
(1) 80-90%, 60-90 sec 3R 5-10 T fa/TshH

(2)  60-90%, 60-90 sec 3R 8-10 T fa/3TTH

(3)  80-90%, 90-180 sec i 8-12 Ye fei/TTHH

(4)  60-80%, 45-90 sec 3R 20-25 Y/ THH

Options:-
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.1, Option ID :- 1105,
« 2, Option ID :- 1106,
. 3, Option ID :- 1107,

. 4, Option ID :- 1108,
Answer Given:- 1, Option ID : -1105

Question ID:- 278

In the sports training macro cycle and micro cycles are of which of the following durations ?

1) 3 to10 days and 3 to 7 weeks.

(

(2) 2 to 3 months and 7 to 15 days.
(3) 3 to 4 months and 3 to 10 days.
(

4) 3 to7 days and 3 to 4 months.

e yfoero H W OEEd SR OEdl e o § E 1@ g9y eafy d o
(1) 3910 3 F7 5@
(2) 293#fE siR7 15 fem
(3) 3H4HRE SR3F10fF
(4) 3¥7fe 3R 394w

Options:-

.1, Option ID :- 1109,
« 2, Option ID :- 1110,
. 3, Option ID :- 1111,

. 4, Option ID :- 1112,
Answer Given:- 3, Option ID : -1111

Question ID:- 279

Which of the following is not a principle of sports training in performance sports ?

(1) Principle of progression of load.

(2) Principle of progressive specialisation.
(3) Principle of cyclicity of training.

(4) Principle of technical training.
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T 9 FE 91 g yiem fagr ge-yee & fo @ T

IR S fHgr=
faferear-em wifasfraa fasr
=shdl FRIE0T TG

TR IfoE fagr

Options:-

.1, Option ID :- 1113,
. 2, Option ID :- 1114,
. 3, Option ID :- 1115,

. 4, Option ID :- 1116,
Answer Given:- 4, Option ID : -1116

Question ID:- 280

Which of the following is not correct ?

(1) Static strength is also known as isometric strength.
(2) Dynamic strength is also known as Isotonic strength.
(3) Static strength is the ability to overcome resistance.
(4) Relative strength is not a strength ability.

F | e e TG 2

(1) fer ga saanibd ga ot e 2

(2)  TIfeeiier s FRfefa/srsaes o o Feam 2|

(3) Ter e nfaly W wEut @ 1 A

(4) qEHIHE ol SARTEdl el |
Options:-

.1, Option ID :- 1117,
. 2, Option ID :- 1118,
. 3, Option ID :- 1119,

. 4, Option ID :- 1120,
Answer Given:- 4, Option ID : -1120

Question ID:- 281
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Which of the following is/are correct about methods of maximum strength training ?
(A) In dynamic concentric method heavy resistance is overcome repeatedly.

(B) In dynamic slow eccentric method intensity is kept around 120%.

Select the correct option :

1) only (A) is correct.

Both (A) and (B) are correct.
(

)

2) only (B) is correct.
)
) Both (A) and (B) are incorrect.

(
(
(3
(4

e T o H gaifusrs oo gfveror 3, 9@ FH-91 T9 T

(A) Hfga wfasier fafer & o wfede ® g gr e oE S e
(B) Tifsfier ofieft fawm =gt fafer & 120% wrvremt digan wE St 21
wEl fames 97

(1) Had (A) Fel B

(2) Fae (B) TE B

(3) (A) 3R (B) EFI WET £

(4) (A) 3 (B) B W& & T

Options:-

.1, Option ID :- 1121,
. 2, Option ID :- 1122,
. 3, Option ID :- 1123,

. 4, Option ID :- 1124,
Answer Given:- 3, Option ID : -1123

Question ID:- 282

In which of the following types of contraction muscle applies maximal force throughout the range

of movement ?
(1) Iso-metric
(2) Iso-tonic
(3) Iso-kinetic
(4)

4 Static muscle contraction
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Trefafad § 9 frg ger #1 Sge Amdel 0 Rl ioeitea | deifis aa 3
(1) srEERfS

(2) SEERIAH

(3) EH HAfH

N

(4) Wfewh aHd FoIH

Options:-

.1, Option ID :- 1125,
. 2, Option ID :- 1126,
. 3, Option ID :- 1127,

« 4, Option ID :- 1128,
Answer Given:- 2, Option ID : -1126

Question ID:- 283

The ability to achieve high speed of locomotion from a stationary position or from a slow moving
position known as :

) Movement speed.
(2)  Acceleration ability.
(3) Locomotor ability.
(4)

Speed endurance.

frery sgarzen =1 ofidt wfafrerfa 9 dra wfatierdn fufa um weem & -

(1) THA-7Ifd

(2) Tfqad FrEa

(3) HEEE A

(4) Tifd wenfacs
Options:-

.1, Option ID :- 1129,
. 2, Option ID :- 1130,
. 3, Option ID :- 1131,

. 4, Option ID :- 1132,
Answer Given:- 3, Option ID : -1131

Question ID:- 284
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Which of the following is not correct about Fartlck Training Method ?

1) Pace or speed is not pre-planned.

(
(2) The total value and duration are similar to variable pace method of improving endurance.
(3) During this training Heart Rate fluctuates between 120-140 beats/minutes.

(

4)  Sportsman changes the speed on his own during the training according to terrain, surrounding
and feeling.

e gieerr fafyr & fow & 39 o T g T8 T 2

(1) Tfe-—=n 3 gd feifea 72 8n

(2) =HH F g IR 99F ST<0a GEeied] GUR gRedaaeia 91 fafy & SEy ¥HHE B € |
(3) 35 wfweror % SRE T wifa aftEdAeie 120-140 UeF/afa fae Tt §)

4) faere sfaam S @a:eue 7fq fem, e @ sgyfd % ST Seerd B

Options:-

.1, Option ID :- 1133,
. 2, Option ID :- 1134,
. 3, Option ID :- 1135,

. 4, Option ID :- 1136,
Answer Given:- 4, Option ID : -1136

Question ID:- 285

Which of the following methods of flexibility improvement is based on principle of proprio-ceptive
neuro-muscular facilitation ?

i Post Iso metric stret¢h method.

(1)

(2) Slow stretch and hold method.
(3) Balastic method.

(4) Passive flexibility method.

weEemE s & foru fr=fafaa § @ == o fafy didiEdufes =i weper difaeem fafa @ snanfa
?:

(1) dRe srEE Afgs € fafy
(2) i HE ure Fee fafy
(3) dafes fafy

(4) Ufoma (T=itams) fafy

Options:-
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.1, Option ID :- 1137,
« 2, Option ID :- 1138,
. 3, Option ID :- 1139,

- 4, Option ID :- 1140,
Answer Given:- 2, Option ID : -1138

Question ID:- 286

During long time endurance activity for 10 to 35 min energy is produced by which of the following
system ?

(1) Aerobic-68% Glycolysis-30% and Alact-acid-2%
(2) Aerobic-80% Glycolysis-15% and Alact-acid-5%
(3) Aerobic-90% Glycolysis-8% and Alact-acid-2%

(4) Aerobic-85% Glycolysis-10% and Alact-acid-5%

fopy fafy & ol w99 % Yeeiadl se™ o feamemend 10 9 35 foqe # Ss 3= 3 ¢
(1) TOfah-68%, TARHRIIAHE-30% T TfHE-2%

(2) TfaH-80%, TARHICEE-15% Tade THS-5%

(3) TfaF-90%, TATEHITTEH-8% TaH TfHE-2%

(4) TUfIR-85%, TARHIAHE-10% TaaR TfHe-5%

Options:-

.1, Option ID :- 1141,
. 2, Option ID :- 1142,
« 3, Option ID :- 1143,

. 4, Option ID :- 1144,
Answer Given:- 1, Option ID : -1141

Question ID:- 287
Which of the following is not correct about carbohydrate loading ?

1) Ifis effective when carbohydrate rich diet is taken upto 2-3 hrs of competition.
2

—

If is effective for endurance performance.

If is effective in those events which last for more than 30 minutes.

g

(
(
(3
(

4) Increase in muscle glycogen leads to increase in water storage in muscle.
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TTH i T HYT FeESE & IR & faug § gel TE § ?

(1) &% T8 YHEe gl & afe gienfian 9§ 2-3 = qd Wi 9eEme SwEiesee §uedh o S |
(2) =Y § HeAuiad o fae e 7

(3) =@ 30 fafre & afuswsafuam ffn Fam (9=) % fag g 2

(4) T8 AT B TAhISE T8 STH 9T A $1 SeET §

Options:-

.1, Option ID :- 1145,
. 2, Option ID :- 1146,
. 3, Option ID :- 1147,

. 4, Option ID :- 1148,
Answer Given:- 4, Option ID : -1148

Question ID:- 288

The development of group dynamics is largely guided by which of.the following four concepts ?

(1) Performing, Dynamism, storming and conforming;,
(2) Storming, Dynamism, Forming and performing.
(3) Forming, Stroming, Conforming, Performing,

(4) Dynamism, Storming, Forming and Conforrm’ng.

Trfefterd =R yerdl H & foreeh g1 |ye wfasiierar fassfaa i st & 2
(1) 9egH, Tifqeiierd, Seed, sk

(2) wemard, nfavie, S, e

(3) T, HeA, ATEH, FIUH

(4)  ifcrierdr, siEmeEm, SO, SR

Options:-

.1, Option ID :- 1149,
. 2, Option ID :- 1150,
. 3, Option ID :- 1151,

. 4, Option ID :- 1152,
Answer Given:- 3, Option ID : -1151

Question ID:- 289
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Which of the following are the duties of a good leader ?

A) Builds cohesiveness

B) Motivate others

(
(
(C) Reperesent the group
(D) To act as dictator

(

Evaluate the work of others

Select the correct option :

(1) only (A), (B), (C) and (D) are correct.
(2) only (B), (C), (D) and (E) are correct.
(3) only (A), (B), (C) and (E) are correct.
(4) only (A), (B) and (C) are correct,

TH Y A W UF 3= T U E ¢

(A) Fwg fmfm

(B) THU & U@ &N

(C) @HE 1 gfaffere e

(D) oA |1 Hagr

(E) GHL ST bl Heaih

e fawen 9

(1) *ad (A), (B), (C) (D) T &1
(2) & (B), (O), (D) 3 (E) &l |
(3) % (A), (B), (C) 3R (E) ¥ €1
(4) HIE (A), (B) &R (C) Tl 1

Options:-

.1, Option ID :- 1153,
« 2, Option ID :- 1154,
. 3, Option ID :- 1155,

. 4, Option ID :- 1156,
Answer Given:- 4, Option ID : -1156

Question ID:- 290
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1)
2

e e

(
(
(3
(4)
(1)

(3)
(4)

The scientific measurement of social relationship in a group is known as :

Cohesion
Dynamic
Sociometry

Social Dynamic

O H IS Fral = A q19e HEe ¢

AR
EIREIEED
A

-

H9Te SAHE

Options:-

.1, Option ID :- 1157,
« 2, Option ID :- 1158,
. 3, Option ID :- 1159,

. 4, Option ID :- 1160,
Answer Given:- 3, Option ID : -1159

Question ID:- 291

In the Ancient Olympic, pentathlonéwas'conducted, it includes :

(1) Discus throw, Long Jumpy Tayelirt throw, Foot Race and Wrestling
(2) Long Jump, Javelin, High'Jump, Horse Race and Foot Race
(3) High Jump, Discuss throw, Long Jump, Horse Race and Foot Race
(4) Wrestling, High Jump, Foot Race, Discus throw and Horse Race
Y S gell d, Y2 4 gimfoq 4 ¢
(1) Feama s, @i s, S o, o ok e
() @i S, Safer, o o, g5 wEn o g W
(3) =% v, fewry o, @i o, g Tar 3t $e
(4) FIA, TE S, e W, Teuag o iX gg gar
Options:-

.1, Option ID :- 1161,
. 2, Option ID :- 1162,
. 3, Option ID :- 1163,
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. 4, Option ID :- 1164,
Answer Given:- 2, Option ID : -1162

Question ID:- 292

In which year Amateur Athletice Federation of India (AAFI) was established ?

(1) 1942
(2) 1946
(3) 1948
(4) 1952

for ad H (AAFI) TH=AR tgeifes e &% Sfedl &1 Sl g 7

(1) 1942
(2) 1946
(3) 1948
(4) 1952
Options:-

.1, Option ID :- 1165,
. 2, Option ID :- 1166,
. 3, Option ID :- 1167,

« 4, Option ID :- 1168,
Answer Given:- 2, Option ID : -1166

Question ID:- 293

Which of the following are correct decathlon (Men) event ?
A) Long jump is the 3rdievent of I day.
B) High Jump is the second last event of ISt day.

(
(
(C) TJavelin throw is the second last event of T4 day.
(D) Discus throw is the second event of I1"d day.

(

100 m is the It event of the I1"d day.
Choose the correct option :
1) only (A), (B), (C) and (E) are correct.

3

( (

(2) only (B), (C) and (D) are correct.

(3) only (A), (©), (D) and (E) are correct.
( (

4) only (B), (C), (D) and (E) are correct.
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Trefafea H sHiA-|1 gHa S (7e9) & fara 5 w8 ©
(A) 9o feag | i s i giaif

(B) W feaw H =@ s stfm & gadl Wi
(C) gH fed =) safam & godt i siafora 9
(D) gH¥ fa =t gl ufeifirar fegem o

(E) =&Y fe 100 Hiex <12 ygelt gfadifime

(1) &dd (A), (B), (C) ¥ (E) W&l ¥
(2) %W(B),(C)sﬁm)ﬂé%l

(3) W (A), (O), (D) 3R (E) Tl B
(4) e (B), (O), D)aih ) W T

Options:-

.1, Option ID :- 1169,
« 2, Option ID :- 1170,
. 3, Option ID :- 1171,

. 4, Option ID :- 1172,
Answer Given:- 2, Option ID : -1170

Question ID:- 294

Which of the following are correct for relay race ?
(A) There are 6 members in a relaysteam.

(B) Length of the batton is-28 to 30 em.

(C) Circumference of batton is-8-10 cm.

(D) Weight of the batton is' atleast-50 gms.

( Acceleration zone is 20 m.

Select the correct options :

( (A), (B), (D) and (E) are correct.

(2) only (A), (B) and (D) are correct.
(3) (
( (
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o1 @ % faoa § %9 w9 ad ¥ -

(A) TRimd g aa gl

(B) S I THIE 28 - 30 cm el F 1
(C) A =t qEf¥ 8-10 cm Bl B

(D) &2 &1 YR &9 ¥ F9 50 U &l 2 |
(E) USHEE SF 20 Hiet 3 €|

et foshed g

(1) %= (A), (B), (D) &R (E) &&l €|
(2) A (A), (B) 3R (D) Hel £

(3) ed (B), (C), (D) ¥R (E) #&l €1
(4) 3 (B), (D) 3¥ (E) W&l B

Options:-

.1, Option ID :- 1173,
. 2, Option ID :- 1174,
. 3, Option ID :- 1175,

« 4, Option ID :- 1176,
Answer Given:- 4, Option ID : -1176

Question ID:- 295

Which of the following are correct for LongJump ?
A) Length of take-off board - 1.22m% 0.01m
B) Width of take-off board - 30.cm

(

(

(C) Thickness of take-off board - 10 cm
(D) Width of plasticine indicator - 20 cm
(

Angle plasticine indicator towards - 45° runway
Select the correct options :

1) only (A), (B), (C) and (E) are correct.

2 A), (B

( (A). (B),
(2) only (A), (B), (D) and (E) are correct.
(3) only (A), (C) and (E) are correct.

(4) only (A), (C), (D) and (E) are correct.
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it g (i ) % Hed H - A 9 R
2% ATF SIS hI TS - 1.22m + 0.01H,
TF SATF SIS HI AISTE - 30 .

% ATF SIS =] 12T - 10 H.H

D) fe® TEihel (Fos) I 9er - 20 9.,
T A & R AREF T 1 R - 45°

Options:-
.1, Option ID :- 1177,

- 2, Option ID :-
. 3, Option ID :-
. 4, Option ID :-

1178,
1179,
1180,

Answer Given:- 1, Option ID : -1177

Question ID:- 296

Which of the following are correct for shotptut'?
(A) Diameter of shotput circle - 2,135’ ( £5 mm)
(B) Length of the stop board -1.21 m (+ 0.01 m)

(C) Width of the stop board =14.2/¢m - 30 cm
(D) Height of the stop boafd -5 cm (0.2 cm)

Select the correct options :

(1) only (A), (B) and (C) are correct
(2) only (B), (C) and (D) are correct
(3) only (A), (B) and (D) are correct.
(4) only (A) and (B) are correct.
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e % fomm § ®F W weH ' ¥ 2

(A) TMEYE I &1 ATH - 2,135 Hl. (+5 HIHL)
(B) M &S i TG - 1.21 HI. (+ 0.01 HL.)
(C) =Y &I &t IISE - 14.2 YA, - 30 F.41.
(D) =¥ & ot 396 - 5 YA (£0.2 9.4

& fawen g

(1) & (A), (B) 3R (C) w& £
(2) %€ (B), (O) ¥R (D) Wl 1
(3) ad (A), (B) ¥R (D) & €1
(4) Fad (A) IR (B) & T
Options:-

.1, Option ID :- 1181,
. 2, Option ID :- 1182,
. 3, Option ID :- 1183,

. 4, Option ID :- 1184,
Answer Given:- 1, Option ID : -1181

Question ID:- 297

Which of the following are correct for Badminton ?
A) International Badminton Federation (IBF), was established in 1934

B) IBF name was changed to Badmmmten world Federation in 2004

(
(
(C) It became official summer Olynmpic sports in 1992
(D) Thomas cup had started in 1950

(

E) Uber cup had startedvinh 1956

Select the correct option :

(1) only (A), (B) and (D) are correct.
(2) only (A), (C) and (E) are correct.
(3) only (B), (C) and (D) are correct.
(4) only (B), (C), (D) and (E) are correct.
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i o foo™ § F FuT q98 € 7

(A) ST S HhemM i T 1934 7 g5
(B) 3TE &l UH T M 2004 H F&e o SSfH=A ae WewH 1@l 7 |
(C) =¥ 1992 H 3§ Hieehrei Sl @el o &9 H H=e &f TE |
(D) &m=H &Y I8 1950 H Y g31 |

(E) 3o %Y a4 1956 H 3 g3

et faseT 9

(1) %Fad (A), (B) 3R (D) Tet 1
(2) Had (A), (C) 3R (E) T ¥ |
(3) @ad (B), (C) 3% (D) #& T
(

4) %dd (B), (C), (D) 3R (E) W&l €|

Options:-

.1, Option ID :- 1185,
. 2, Option ID :- 1186,
. 3, Option ID :- 1187,

. 4, Option ID :- 1188,
Answer Given:- 3, Option ID : -1187

Question ID:- 298

Which of the following are correct for Gymmniastics ?

(A) Federation of International Gymnastics was formed in 1881.
(B) Vaulting Table - Apparatus.for both Men and women.

(C) Horizantal Bar - Appatatus for women only.

(D) Uneven Bar - Apparatés for women only.

( Parallel Bars - Apparatus for both men and women.

Select the correct options :

(A), (B) and (C) are correct.
only (A), (B), (C) and (E) are corret.
only (B), (C), (D) and (E) are correct.
4) only (B), (C) and (D) are correct.
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SHAES o foua § ®F 9 %99 Hel ¢ ?

A) T4 1881 H HEWH 3 TN SIHATZ i T T8 |
B) dfcet Zae SUHU Higen 3R 989 21 & faw 2|

) RIS IR 39HY Hee Hfeensd # fog B

D) $TEa 9 IYFI haw Higenedl % fau 7

E) WA AR 39 Y&, Higel aHi o fae g

0 =

(A)
(
(
(
(

Tt fakeq 9

(1) e (A), (B) 3R (C) &I ¥l
(2) FHFA (A), (B), (C) 3R (E) Tl ¥ |
(3)

(

(A)
Faa (B), (O), (D) oﬂ? ) T&l g
4) Fad (B), (C) & (D) T €1

Options:-

.1, Option ID :- 1189,
« 2, Option ID :- 1190,
. 3, Option ID :- 1191,

. 4, Option ID :- 1192,
Answer Given:- 2, Option ID : -1190

Question ID:- 299

Which of the following are correct about Judo?

(A) Judo in Female category was added’in Olympics in 1964.
(B) Judo Federation of India was established in 1965.

(C) Koshi - Waza - Hip Techniques.

( Te - waza - Chocking\fechniques.

Select the correct option :

(1) only (A), (B) and (C) are correct.
(2) only (B) and (C) are correct.

(3) only (B), (C) and (D) are correct.
(4) only (A), (C) and (D) are correct.
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eI & faug H§ [ 97 98 ¢ |

(A) =1 Afgen a7 1964 § sAefiges | el 74 |
(B) I[S1 Thelw 3% SH=1 =i T 1965 W €5 |
(C) ei-arst-fey 2 ¢ |

(D) 2 STSI-ANfRET S B |

e faseq =4

(1) &ad (A), (B) 3R (C) H&t 1

(2) o (B) 3R (C) Tl T

(3) a@ (B), (C) 3K (D) T& 1

(4) %9 (A), (C) IR (D) el £

Options:-

.1, Option ID :- 1193,
« 2, Option ID :- 1194,
. 3, Option ID :- 1195,

. 4, Option ID :- 1196,
Answer Given:- 1, Option ID : -1193

Question ID:- 300

Which of the following are correct for Table*Ténnis.?

(A) International Table tennis Federation was formed in 1926.
(B) Length of table - 290 m

(C) Width of table - 1.35 m

( Height of table fromdloor - 76 cm

Select the correct options :

(1) only (A) and (D) are correct.

(2) only (B), (C) and (D) are correct.
(3) only (A), (B) and (C) are correct.
( (

)
4) only (B) and (C) are correct.
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-2 ¥ fawa § 1 F97 9@ 2 7

(A) TECTMS Sdel HEH i TA91 1926 H 8 |
(B) <d@ i &S - 2.90 Hie

(C) 2 =t HIEE - 1.35 HiX

(D) F¥ ¥ Zad & 3I4E - 76 WAL

&l fases 99

(1) Fad (A) R (D) T&t €1

(2) @& (B), (C) 3R (D) W&l €1
(3) &Had (A), (B) 3R (C) Tel £
(4) e (B) 3R (C) Wl
Options:-

.1, Option ID :- 1197,
. 2, Option ID :- 1198,
. 3, Option ID :- 1199,

. 4, Option ID :- 1200,
Answer Given:- 3, Option ID : -1199

Question ID:- 301

Which of the following are correct for wrestling Arena ?

(A) Central circle is 2 m in diameter.

(B) Central wrestling area is 7 meter imdiameter.

(C) Orange stripes 1 m wide/Outside the central wrestling area.

(D) Area out side the orange stiip is 2 m wide known as protection area.

Select the correct option :

(1) only (A), (B) and (C) are correct
(2) only (B), (C) and (D) are correct.
(3) only (B) and (C) are correct.
(4) only (A) and (D) are correct.
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FEdt 2 T & for # B wue wd E 2

(A) =T gd HI AH 2 HieX A€

(B) =l Pyl &5 1 AW 7 H. BT 2 |

(C) =g Fdt &5 & 9 &t R 1 Hiex =Jrer T ugh 2 &
(D) T gt o el 2 7, =re1 & g ¥ | 8 dreder it #Ed ©
el o =9 -

(1) Fad (A), (B) 3R (C) T&r &1

(2) %ad (B), (C)aih(D & €l

(3) %Fad (B) ¥R (C) e F1

(4) HaA (A) 3R (D) Wel |

£
—

Options:-

.1, Option ID :- 1201,
« 2, Option ID :- 1202,
- 3, Option ID :- 1203,

- 4, Option ID :- 1204,
Answer Given:- 1, Option ID : -1201

Question ID:- 302

Which of the following are correct about Baskét ball ?
A) Invented by Dr. James Naismith ifn 1881
B) Court length-28 m and width=1l5 m:

(

(

(C) Diameter of central circle’- 4.m.

(D) Free throw line is at5.80 mfrom end line.
(

Backboard - length 1.80'm and width 1.20 m.

Select the correct option :
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IEhE A1 o I § BE HYH W@ e

(A) T S TIREY J TH 1881 @IS 11

(B) IS &I @ 28 HY. IR dreE 15 oI, &t ¥
(C) =T 9a 1 Y 4 HIZX & T

(D) = T § 5.80 H. T W o1 @A A 7

(E) & &€ 1.80 HY. wa X 1.20 =Y. =reT 2 €1
et fasen 9

(1) &dd (A), (B), (D) ¥R (E) & €1

(2) %9 (B), (D) ¥R (E) w&l ¥

(3) a (A), (C) 3R (E) w&t €1

(4) A (B) 3R (D) F& ¥

Options:-

.1, Option ID :- 1205,

. 2, Option ID :- 1206,

. 3, Option ID :- 1207,

« 4, Option ID :- 1208,
Answer Given:- 2, Option ID : -1206

R

Question ID:- 303

Which of the following are correct in respect to, Cricket ?
(A) Length of Cricket Bat - 38 inches

(B) Width of the Cricket Bat - 4.50 inches

(C) Weight of Cricket Ball; 155.9 fo 163 gms

(D) Length of Pitch - 20.12'mts

( Height of stumps - 28.5 inches with bails

Select the correct options :

(1) only (A), (B), (C) and (E) are correct.
(2) only (A), (C), (D) and (E) are correct.
(3) only (A), (B) and (D) are correct.
(4) only (B), (C) and (E) are correct.
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R FfmiaRFR e ?
(A) TheRe 92 =1 @ =TE : 38 39

(B) Tz 92 #1 ek 4.50 24

(C) TRz Tig = ¥R 155.9 163 UM
(D) fu= =t &g 20,12 HieX

(E) =¥ ol dod Hfgd 39E - 28554

e fashew 94

(1) @ad (A), (B), (C E) W&l €1
(2) A (A (c E) 98l €1
(3) ad (A), (B) Hﬁ%*l

(

4)  #FHad (B), (C) (E)?EI%:T%I

Options:-

.1, Option ID :- 1209,
. 2, Option ID :- 1210,
. 3, Option ID :- 1211,

. 4, Option ID :- 1212,
Answer Given:- 2, Option ID : -1210

Question ID:- 304

Which of the following are correct about fodtball*?

(A) Durand cup was started in 1888.

(B) Weight of football ball - 410 to 450 g.

(C) Circumference of ball -.30 to 32 inches.

(D) Distance between goalpost - 7.32 m

( Distance between ground and lower edge of crossbar of goal post - 2.60 m.
Select the correct option :

(1) only (A), (B) and (D) are correct.
@
3)
(

(A) (

only (A), (B), (C) and (D) are correct.

only (A), (B), (D) and (E) are correct.
(

4) only (B), (C), (D) and (E) are correct.



https://aview.in/
https://aview.in/category/previous-papers/

Feald & fau § #F F96 9@ 2 ?

(A) TS HYT H AXH 1888 H 3T |

(B) EEdTe =hl &I 1 9 410 § 450 U™ 21 5

(C) = i afeedt 30 ¥ 32 379 Bt B

(D) il 9R= & HeA 732 HL. 1 g8 B

(E) WS R Tiel UR2 i %9 9 &1 ollat Usf o 984 2,60 | g 2t 81

Options:-

.1, Option ID :- 1213,
. 2, Option ID :- 1214,
. 3, Option ID :- 1215,

. 4, Option ID :- 1216,
Answer Given:- 2, Option ID : -1214

Question ID:- 305
Which of the following are correct for Handball ?
A)  Weight for men - 425475 ¢

(
(B) Weight for women - 350-375 g
(C) Diameter for men - 19.cm

(

D) Diameter for women %17 cm.

select the correct option :
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Trare o faug | i FHUA Te § 7
(A) qEui o for WR-425475 UM
(B) Hfgcned & e wR-350-375 UTH
(C) Yeul & fow =9 19 9.1

(D) Hfgensdl & fau =e-17 H.H1.

ﬂﬁﬁwwaﬁ-

(1) Fad (A), (B D) @&l €1
(2) ®had (B), (C)@R D) HEl 2 |
(3) % (A), (B) 3R (C) W& T
(4) A (A) 3R (C) WEr T

Options:-

.1, Option ID :- 1217,
. 2, Option ID :- 1218,
. 3, Option ID :- 1219,

. 4, Option ID :- 1220,
Answer Given:- 4, Option ID : -1220

Question ID:- 306

Dimension of Kabaddi ground for men and women ?

(1) (13%9 m) and (10X 8 m)

(2)  (13x10 m) and (11 X8 m)
(3) (12x10 m) and (10x9 m)
(4) (12x9m ) and (11 X9h)

%Y R Higeadl o fau Feel HeM 1 famr #

(1) (13x9 m) 3R (10x8 m)

(
(2) (13x10 m) 3R (11 %8 m)
(3) (12x10 m) 3R (10 X9 m)
4

4)  (12x9m) R (11x9 m)

Options:-

.1, Option ID :- 1221,
« 2, Option ID :- 1222,
. 3, Option ID :- 1223,

. 4, Option ID :- 1224,
Answer Given:- 2, Option ID : -1222

Question ID:- 307
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What is the full court diagonal distance of Volleyball court ?

(1) 22215 m
(2) 22575 m
(3) 20.125 m
(4) 20215 m

Fiferarel #ie &l gd e eaa (fawol) gl feadt g 2

1) 22.215 Hl.

20.125 Ht.

e

(
(2) 22575 Hl.
(
(

)
4)  20.215 .

Options:-

.1, Option ID :- 1225,
. 2, Option ID :- 1226,
. 3, Option ID :- 1227,

. 4, Option ID :- 1228,
Answer Given:- 4, Option ID : -1228

Question ID:- 308
What is the weight and circumferencef Vollyball ?
1)  250-270 g and 64-66 cm

(
(2
(2
(

S

260-280 g and 65-67 cm
3

T

270-290 g and 67-69¢cot
4) 280-310 g and 69-71 cm

SiciteTed shit &TeT o1 YR AR gftfy e & 2

1) 250-270 1. 3iX 64-66 V.5,

}]

(
(2)  260-280 U FHI 65-67 H.HI.
(3) 270-290 UL 3i 67-69 H.HI.
(

4)  280-310 7. 3 69-71 T,

Options:-

.1, Option ID :- 1229,
« 2, Option ID :- 1230,
. 3, Option ID :- 1231,
. 4, Option ID :- 1232,
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Answer Given:- 2, Option ID : -1230

Question ID:- 309

Which of the following is not correctly matched for game and duration of game ?

(1) Hand ball - 30 min - 10-30 min

(2) Football - 45 min - 15-45 min

(3) Kabaddi - 25 min - 10-25 min

(4) Basketball - 10 min - 2-10 min - 15m - 10m - 2-10min

H | T SR IHH G F GHA e T & 2

(1) &g =@ 30 fir. - 10-30 fa.

(2) pedre 45 . - 15-45 A

(3) hagl 25 1. - 10-25 fh.

(4) ®reReerE 10 6. - 2-10 f. - 15 f. - 2-10 .
Options:-

.1, Option ID :- 1233,
. 2, Option ID :- 1234,
. 3, Option ID :- 1235,

. 4, Option ID :- 1236,
Answer Given:- 3, Option ID : -1235

Question ID:- 310

Which of the following is not a£ype of stroke in swimming ?

(1) Front crawl
(2) Breast

(3) Butterfly

(4) Medley

AR H 3H W R | R e T ¢ ?

(1) e wIsd

(2) =

(3) faaell (wevems)
(4 H=A
Options:-

.1, Option ID :- 1237,
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« 2, Option ID :- 1238,
. 3, Option ID :- 1239,

. 4, Option ID :- 1240,
Answer Given:- 4, Option ID : -1240

Question ID:- 311

Who has defined Health as “Health is the quality of life that enables the individual to live ,most
and serve best “?

(1) ].B Nash

(2) J.F William

(3) WHO

(4) Maxwell Howell

" ey Siter o 98 @ § S B o <Y Sita SR Heifis a1 % 9rd o9 71 Te e wee § 2
(1) . &A™

2) . uw fafem
(3) == T S
(4) Hegad e
Options:-

.1, Option ID :- 1241,
. 2, Option ID :- 1242,
. 3, Option ID :- 1243,

. 4, Option ID :- 1244,
Answer Given:- 3, Option ID : -1243

Question ID:- 312

Which of the following is not an aspect of Health

(1) Spiritual
(2) Physical
(3) Fitness
(4) Mental
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Fr=fafaa 5 9 a1 e F1 9 T8 8 2

(1) e1&TeH
(2) W
(3) ergEud (freTH)
(4) HHEAEHFR
Options:-

.1, Option ID :- 1245,
. 2, Option ID :- 1246,
. 3, Option ID :- 1247,

. 4, Option ID :- 1248,
Answer Given:- 1, Option ID : -1245

Question ID:- 313

i

is the sum of experiences, which favourably influence habits, attitudes and
knowledge, relating to individual, community and social health”

(1) Physical Education
(2) Health Education
(3) Physical Culture
(4) Physical wellness

FAYE! F1 AT B S BHAM SR, FAG A SR T S AR, FHEE SR SIS SR F
fawg o gaifera & €1

(1) v fasn
(2) wary o
(3) iR wwpfa

(4) VIR FIE &n

Options:-

.1, Option ID :- 1249,
« 2, Option ID :- 1250,
. 3, Option ID :- 1251,

. 4, Option ID :- 1252,
Answer Given:- 1, Option ID : -1249

Question ID:- 314
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The word hygiene has been derived from Greek word ‘Hygienous which means :

(1) Healthy

(2) Health

(3) Healthful
(4) Healthness

‘TS U A VIes  eESaE | W e el 7, foweR 31 ©

(1) wEe

(2 W

(3) Tamey
(4) T
Options:-

.1, Option ID :- 1253,
. 2, Option ID :- 1254,
. 3, Option ID :- 1255,

. 4, Option ID :- 1256,
Answer Given:- 1, Option ID : -1253

Question ID:- 315

Tuberculosis in human caused by which'of the following bacterium ?

(1) Mycobacterium Tuberculosis
(2) Mycobacterium Bovis

(3) Tuberculosis Bovis

(4) Plyobacterium Tuberculosis

Tore SR § wsl o e Al € 7
(1) TEREERIEE ZgavEiad
(2) HEHEERIIY iy

(3) ST wifad

(4) e Y ey

Options:-

.1, Option ID :- 1257,
. 2, Option ID :- 1258,
. 3, Option ID :- 1259,
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. 4, Option ID :- 1260,
Answer Given:- 1, Option ID : -1257

Question ID:- 316

The core principle of environmental wellness is :

1) Respect for nature.

Respect all human being living in nature.
Respect for nature and all the species living in it.

4) Respect all species living in the nature

AT Tl T Hel g @

(1) 9fd =1 37X i)

(2) WHfd H @ Al Bl HYSE 1 3R L

(3) Ul 3R 3HH |efi W@ el Sfa genfadl @ eae i)
(4) YeBfd H @ aTel WSifadi sl AL Fl |

Options:-

.1, Option ID :- 1261,

. 2, Option ID :- 1262,

« 3, Option ID :- 1263,

. 4, Option ID :- 1264,
Answer Given:- 3, Option ID : -1263

Question ID:- 317

AIDS is caused by HIV, which means :

1) Human Immune Virus

2) Human Immuno deficiency Virus

(

(2)

(3) Human Immuno Virus
(

4) Human Immdeficiency Virus

AIDS =l RO HIV 8, fowen 314 § :
(1) &A= 9

(2) A Tl SHITHE "R
(3) I FL AR

(4) = SHSTHEETT aERE

Options:-
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.1, Option ID :- 1265,
. 2, Option ID :- 1266,
. 3, Option ID :- 1267,

. 4, Option ID :- 1268,
Answer Given:- 2, Option ID : -1266

Question ID:- 318

Which of the fo]lowing is not a skin injury ?

1)  Abrasion

3

(
(2) Avulsion
(3) Incision
(

4) Strain

] 9 %A G = = (e s=il) T80T
(1) &5

(2) AFETHT

(3) FAHIH

(4) ¥
Options:-

.1, Option ID :- 1269,
« 2, Option ID :- 1270,
. 3, Option ID :- 1271,

. 4, Option ID :- 1272,
Answer Given:- 4, Option ID : -1272

Question ID:- 319

When a bone is broken, splinted or crushed into numbers of pieces, this type of Fracture is known
as:

(1) Green Stick
(2) Transverse
(3) Commutated
(

4)  Impacted
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a S TGl 22 AN el S W HS gohel H &l Sl ¢ a9 kel gyl e (k) FHEd ¢ ;
(1) = few

(2) ZiEad
(3 Fefes
(4) zHfFRE
Options:-

.1, Option ID :- 1273,
. 2, Option ID :- 1274,
. 3, Option ID :- 1275,

. 4, Option ID :- 1276,
Answer Given:- 3, Option ID : -1275

Question ID:- 320

The first case of AIDS was reported in the year in the world in India in the year

1) 1981 and 1988

(

(2) 1981 and 1986
(3) 1982 and 1988
(

4) 1982 and 1986

TSH &I dgal 7S a9y ¥ fava #, qon = IR H gE H & |
(1) 1981 3 1988
(2) 1981 3R 1986
(3) 1982 X 1988

(4) 1982 3R 1986

Options:-

.1, Option ID :- 1277,
. 2, Option ID :- 1278,
. 3, Option ID :- 1279,

. 4, Option ID :- 1280,
Answer Given:- 2, Option ID : -1278

Question ID:- 321
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Which of the following statement is/are correct ?

Statement-(I) : Hepatitis is an infection of the liver caused by any of the Hepatitis A virus,
Hepatitis B virus and Hepatitis D virus.

Statement-(II) : Hepatitis A is serum hepatites and Hepatitis B is epidemic jaundice.

Select the correct option :

(1) Both statements are correct.

(2) Both statements are incorrect.
(3) Only (I) statement is correct,
(4) Only (II) is statement is correct.

Freferfiad wam wel &8 -

He-(I) :  eufefeq Fa (frer) 4 fordl o eufefen A o, gufefey B @ 3ik eufefeq <t amrg
BRI & |

FeA-(I0) : Bufefen v i Sufefew B o wufefen = wiefis sifea (difern) 21
el feremed =

(1) e (1) 3R % (1) SH 9 B |

(2) A () SR FH2A (1) T STTA T |

(3) FIA FYA (I) TA €|

(4) <heel YA (1) T 2|

Options:-

.1, Option ID :- 1281,
« 2, Option ID :- 1282,
. 3, Option ID :- 1283,

. 4, Option ID :- 1284,
Answer Given:- 3, Option ID : -1283

Question ID:- 322

Which of the following is not a communicable diseases ?
1) Tuberculosis

(
(2
(
(

Influenza

S—

3

S

Conjunctivitis

4) Diabetes Mellitus
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fefafea d FF W aFHE TTTE © 2
(1) eYElad

(2) FTHRES

(3) TifgeaTEfeg

(4) SweH Afdey
Options:-

.1, Option ID :- 1285,
. 2, Option ID :- 1286,
. 3, Option ID :- 1287,

. 4, Option ID :- 1288,
Answer Given:- 4, Option ID : -1288

Question ID:- 323
Which of the following is/are correct ?

(A) Ozone layer is found 35 kms above earth.

(B) Chloro fluoro carbons is destroying ozone layer.

(C) Carbon dioxide is a green house gas.

Select the correct option :

(1) only (A) and (B) are correct.
(2) only (B) is correct.

(3) only (B) and (C) are correct.
(4) only (A) and (C) are corfect:

Frefafa wum § 9 w8 E

(A) IS Fae g=al § 35 T Al 3 U Sl €
(B) FARIFARETH S Hag hl T H @ S|
(C) FETSEAFEEY U WA &9 19 8|

Hﬁwiﬁ
(1) ad (A) 3R (B) 9 ¥
(2) e (B) TH I

(3) A (B) 3R (C) w1
(4) Had (A) 3R (C) ¥&l 2|

Options:-
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.1, Option ID :- 1289,
« 2, Option ID :- 1290,
. 3, Option ID :- 1291,

. 4, Option ID :- 1292,
Answer Given:- 3, Option ID : -1291

Question ID:- 324

Which of the following is/are correct ?

(A) Acid rain was first discovered in 1852,

(B) The primary causes of Acid rain are sulphurdioxide and nitrogen dioxide.

Select the correct option :

(1) only (A) is correct.

(2) only (B) is correct.

(3) Both (A) and (B) are correct.
(4) Both (A) and (B) are incorrect.

Frefafed § 7 % T8 28

HUT (A) T 1 1852 TR A G H & |

FHUF (B) o Tl % ol H GeH SRS A WEee STHEe
e fashed 9

(1) ad (A) T&l &

(2) Had (B) TE T

(3) 3 (A) iR (B) wEl ¥

(4) THI(A) R (B) TE T 7

Options:-

.1, Option ID :- 1293,
« 2, Option ID :- 1294,
. 3, Option ID :- 1295,

. 4, Option ID :- 1296,
Answer Given:- 3, Option ID : -1295

Question ID:- 325
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Which of the following is/are correct ?

(A) Aspertic acid salt are used to treat Fatigue.

(B) Tobacco contain Nicotine and an average cigarette contains 1.5 mg of Nicotine.
Select the correct option :

(1) only (A) is correct.
(2
(
(

—

only (B) is correct.
3

S

only (A) and (B) are correct.

4) Both (A) and (B) are incorrect.

frefafea weua § #F w8 28 -
FUF (A) TEIEH UfHE HIeE W/ UEH g I o e 3o g €
YA (B) T | RIS B €, U 9w fae | 1.5 . FeRe a §

ﬂﬁﬁwaﬁ
(1) Faet (A) &l 21
(2) e (B) TE B

(3) 3 (A) 3R (B) HEl 1
(4) T (A) 3R (B) TTeTd 7 |

Options:-

.1, Option ID :- 1297,
. 2, Option ID :- 1298,
. 3, Option ID :- 1299,

. 4, Option ID :- 1300,
Answer Given:- 3, Option ID : -1299

Question ID:- 326

National malaria control programme was launched by the Government of India in the year :

(1) 1951
(2) 1952
(3) 1953
(

4y 1954
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Id LFR 5R1 TG ot s iy feg g9 9 Ry fem mr 2

(1) 1951
(2) 1952
(3) 1953
(4) 1954
Options:-

.1, Option ID :- 1301,
. 2, Option ID :- 1302,
. 3, Option ID :- 1303,

. 4, Option ID :- 1304,
Answer Given:- 1, Option ID : -1301

Question ID:- 327

The noise pollution is measured in which of the following units ?

(1) Pitch

(2) Decible
(3) Loudness
(4) Hertz

3 YU WA i I FE ?

(1) fo=

(2) =H=Ew
(3) wTHETH
(4) 'S
Options:-

.1, Option ID :- 1305,
. 2, Option ID :- 1306,
. 3, Option ID :- 1307,

- 4, Option ID :- 1308,
Answer Given:- 2, Option ID : -1306

Question ID:- 328
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Which of the following are correct ?

(A) Saturated fats remains solid at room temperature.

(B) Unsaturated fats remains liquid at room tempertaure.
(C) One gram of fat releases 8.3 kcal.

( Fats are made up of carbon, Nitrogen and Oxygen.

Select the correct option :

(1) only (A), (B) and (D) are correct.
(2) only (A) and (B) are correct.

(3) only (A), (B) and (C) are correct.
(4) only (D) and (C) are correct.
fed o e H HH wE B

(A) S F AIAE H Gy SHy=E 3 @l @ |
(B) oHFX 1 ATYH H STHYT S a8 Wl 7
(
(

0

) T JHEE | 8.3 keal UTE et ¥
D) &9l e, AEereT it sAedter | fafdg €1
ﬂ—ﬁﬁﬁmﬂﬁ

(1) e (A), (B) 3R (D) wel €1
(2) aE (A) IR (B) TE E |
(3) Fad (A), (B) 3R (C) WEl €|
(4) HFA (D) AR (C) TEl &

Options:-

.1, Option ID :- 1309,
. 2, Option ID :- 1310,
. 3, Option ID :- 1311,

. 4, Option ID :- 1312,
Answer Given:- 2, Option ID : -1310

Question ID:- 329

Which of the following is not a Nacrotics Drug ?

(1) Morphine

(2) Cocaine

(3) Amphetamine
(4) Opium
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TH T AREhIead o7 T8l § ?

(1) ARHHE

(2) THIHMA

(3) UHEReIHA

(4)  SAToRrE/ SR
Options:-

.1, Option ID :- 1313,
. 2, Option ID :- 1314,
. 3, Option ID :- 1315,

. 4, Option ID :- 1316,
Answer Given:- 3, Option ID : -1315

Question ID:- 330

Which of the following is/are correct ?

(A) Before adolescence girls grow faster then boys
(B) During adolescence boys grow faster than girls

Select the correct option :

1) only (A) is correct.

(

(2) only (B) is correct.

(3) Both (A) and (B) are correct.
(

(
4) Both (A) and (B) are incorrect.

Freferfaa & ®H w9 qel 278 |
(A) TR stawen 9§ vgcl arefendl gel 9 el § gfg ure et €1
(B) ToeiR staen & < we% wiefFal 9 a5t 9 9fg o % €1

& forsey 4

(1) ad (A) T&

(2) = (B) W& T

(3) QM (A) 3R (B) WEt €1
(4) 2 (A) iR (B) e

Options:-

.1, Option ID :- 1317,
. 2, Option ID :- 1318,
« 3, Option ID :- 1319,

- 4, Option ID :- 1320,
Answer Given:- 3, Option ID : -1319
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Question ID:- 331
Which of the following is/are correct ?

(A) Between 3 to 5 years of age children continue to grow rapidly and begin to develop fine-
motor skills.

(B) Physical growth is slowed down between 5 to 8 years.

(C) Between birth and age of three, a child typically doubles the height and weight.
Select the correct option :

(1) only (A) and (B) are correct.

(2) only (A) is correct.
(3) only (A) and (C) are correct.
( (

4)  only (B) and (C) are correct.

(A) 3H5TH B ey H o= Ao § Few agd € TR <o iyl fasm g 1 iy &id 2|
(B) 5H8aY &I oy H IR gfg et 2 st )
(C) S| A 394 & g H arerss g9 iR e H foady afs @ g

ﬂﬁﬁwaﬂf;

(1) (A) 3R (B) 3M =& €1
2) (A)F@%\I

(3) (A)aﬂi()ﬂﬁﬁl
(4)  (B) ¥R (C) W €1
Options:-

.1, Option ID :- 1321,
. 2, Option ID :- 1322,
. 3, Option ID :- 1323,

. 4, Option ID :- 1324,
Answer Given:- 3, Option ID : -1323

Question ID:- 332

An average adult needs how much protein per day ?

(1) 0.6 grams/kg of body weight.
(2) 08 grams/kg of body weight.
(3) 1.2 grams/kg of body weight.
(4) 14 grams /kg of body weight.
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HHA S &l Widted feha] |60 H welq =fes ?
(1) 0.6 UM/kg TUAT o 1
(2) 0.8 UM/kg 3T TSH
(3) 1.2 Um/kg 39 oS i

(4) 14 UM/kg 3T =S hi

Options:-

.1, Option ID :- 1325,
« 2, Option ID :- 1326,
. 3, Option ID :- 1327,

. 4, Option ID :- 1328,
Answer Given:- 4, Option ID : -1328

Question ID:- 333

In which of the following events P.T Usha was 4th in the summer Olympics ?

(1) 200 m
(2) 400 m
(3) 400 m Hurdle
(4) 800 m

e S o e e § W.21.391 Fi Eid] TH e gol ?
(1) 200 HeX

(2) 400 Hi=X

(3) 400 HieX B

(4) 800 HIeX
Options:-

.1, Option ID :- 1329,
- 2, Option ID :- 1330,
. 3, Option ID :- 1331,

. 4, Option ID :- 1332,
Answer Given:- 3, Option ID : -1331

Question ID:- 334
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Which of the following term is used for “tennis elbow injury” ?

(1) Medial Epicondylitics
(2) Lateral Epicondylitics
(3) Superior Epicondylitics
(4) Inferior Epicondylitics

‘3 e He @ R e () | T S R 7
(1) fufese gdismrEifafers

(2) et i

(3) iifer sfEwrEifete

(4) TWIRER guRrEifatesy

Options:-

.1, Option ID :- 1333,
. 2, Option ID :- 1334,
. 3, Option ID :- 1335,

. 4, Option ID :- 1336,
Answer Given:- 2, Option ID : -1334

Question ID:- 335

Which of the following is the last phase 6f menstrual cycle ?

(1)  Owvulation phase
(2) Luteal phase
(3) Mensturation
(4) Follicular phase

AT =g b1 2AfH SOy i ¥ 2

(1) SIS e
(2 wErE sEEn
(3) TSgH sEE
(4 T ST
Options:-

.1, Option ID :- 1337,
« 2, Option ID :- 1338,
« 3, Option ID :- 1339,
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. 4, Option ID :- 1340,
Answer Given:- 1, Option ID : -1337

Question ID:- 336

India won how many medals in the Birmingham commonwealth game in 2022 ?

(1) 21 Gold, 17 Silver and 22 Bronze.
(2
(
(

—

22 Gold, 16 Silver and 23 Bronze.

3 21 Gold, 16 silver and 24 Bronze.

Ry

4) 22 Gold, 17 Silver and 24 Bronze.

g A ferfa==m Hmmeey 2022 @eli | ford #ed i ?
(1) 217ieg, 17 faesr iR 22 9
(2) 227, 16 faesr IR 23 9
(3) 217eE, 16 faesr iR 24 S
(4) 227iEE, 17 faesr 1R 22 3

Options:-

.1, Option ID :- 1341,
« 2, Option ID :- 1342,
. 3, Option ID :- 1343,

- 4, Option ID :- 1344,
Answer Given:- 4, Option ID : -1344

Question ID:- 337

Avinash sable won silverimedal at Birmingham commonwealth games 2022 in 3000 m steeple
chase with the timing of :

(1) 8:12.26
(2) 8:13.26
(3) 8:11.20
(4)  8:10.20

sAfaarg oot A fafam wdey 2022 @el § 3000 9. 9eua 99 # 2afdn 4 faear gea st ?
(1) 8:12.26
(2) 8:13.26
(3) 8:11.20
(4) 8:10.20

Options:-
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.1, Option ID :- 1345,
. 2, Option ID :- 1346,
. 3, Option ID :- 1347,

. 4, Option ID :- 1348,
Answer Given:- 1, Option ID : -1345

Question ID:- 338
‘Tumper’s Knee” is an injury that result due to :

1) Sprain of the Ham string tendon.

(
(2)  Strain of the Posterior curciate ligament.
(3) Sprain of the Quadriceps tendon.

(

4)  Strain of the Anterior curciate ligament.

‘o Y e I HROTE

(1) AT eAEH ° Hre

(2) IR KRR fomHe | 99
(3) FEIHH EH H HF

(4) TR FEEE formie § qE
Options:-

.1, Option ID :- 1349,

« 2, Option ID :- 1350,

. 3, Option ID :- 1351,

. 4, Option ID :- 1352,
Answer Given:- 2, Option ID : -1350

Question ID:- 339

“Rotator cuff” injury is of which of the following joint ?

(1) Knee

(2) Shoulder
(3) Hip

(4) Ankle
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‘YR ' =ie fF Siig W ¢

(1) ==
(2) <heEl
(3) F
(4) EECE
Options:-

.1, Option ID :- 1353,
. 2, Option ID :- 1354,
. 3, Option ID :- 1355,

« 4, Option ID :- 1356,
Answer Given:- 1, Option ID : -1353

Question ID:- 340

Fluid filled sacks that are positioned at certain points around some joints, which act as cushions
separating and padding adjacent tissues are known as :

(1) Joint capsules
(2) Bursa

(3) Cartilage

(4) Fascia

e | 9 A $ SIS % T U T a9y T 9 T S € S 9 6 et 1 STer H SR e
1 T LAl & - 6 T Fed & 2

(1) e Huyd
(2) g

(3) wRfeers
(4 wIE
Options:-

.1, Option ID :- 1357,
. 2, Option ID :- 1358,
. 3, Option ID :- 1359,

. 4, Option ID :- 1360,
Answer Given:- 2, Option ID : -1358

Question ID:- 341
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In the pure and dry air the composition of oxygen by percentage weight is :

(1) 23.14
(2) 2624
(3) 21.36
(4) 22.04

S AR Yoh 7 T A 1 G G 9N S

(1) 23.14
(2) 26.24
(3) 21.36
(4) 22.04

Options:-

.1, Option ID :- 1361,
. 2, Option ID :- 1362,
. 3, Option ID :- 1363,

. 4, Option ID :- 1364,
Answer Given:- 3, Option ID : -1363

Question ID:- 342

Which of the following is not a part of small irttestine ?

(1) Duodenum
(2) Jejunum

(3) Heum

(4) Rectum

Trefafas § @ %5 91 218 21d = 9 T8 B g ?

(1) T8 (SgEFH)
(2)  UEET (SiSFH)
(3) &Jarst (zferam)
(4) HARE

Options:-

.1, Option ID :- 1365,
« 2, Option ID :- 1366,
. 3, Option ID :- 1367,

. 4, Option ID :- 1368,
Answer Given:- 4, Option ID : -1368
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Question ID:- 343

The term “Psychology’ is derived from two Greek words :

(D
(2
(
(

S

3

S—

4)

Psyc and Logos
Psyche and Logos
Psy and Logus
Psych and Logus

“Psychology’ (HEehIeis] ) AR a8 i Icafd o &1 Uik ol A g5 § 2

Psyc #HR Logos (HEH g )
Psyche 3R Logos (TRt T ENTH)
Psy 3R Logus (1§ T W)
Psych 31t Logus (41 g )

Options:-

.1, Option ID :- 1369,
« 2, Option ID :- 1370,
. 3, Option ID :- 1371,

- 4, Option ID :- 1372,
Answer Given:- 2, Option ID : -1370

Question ID:- 344

Which of the following is/are correct ?

(A)

(B)
(©)

Motivation is a force/ drive which compels an individual to act or behave.
Motivation is not required for effective learning,.

Motivation is direction/and intensity of behaviour.

Select the correct coded :

only (A) and (B) are correct.

(

only (A) and (C) are correct.

only (B) and (C) are correct.
(

only (C) is correct.
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Frafafad § 9 =0 @& & 28 ?

(A) STRTIROT T Fe/wed IR0 © S foRE S il FT S1UET SHeRR i I A H ©
(B) gl stfermy & ferw AFYHTon 1 AravEehd T2l & €1

(C) @i e it foun iR yerem S ¥ |

el FE ol HIA Hifoy

(1) Fact (A) ¥R (B) T& T
(2) e (A) ¥R (C) 7 B
(3) ad (B) AR (C) WEl ¥
(4) I (C) W EI
Options:-

.1, Option ID :- 1373,
« 2, Option ID :- 1374,
- 3, Option ID :- 1375,

- 4, Option ID :- 1376,
Answer Given:- 2, Option ID : -1374

Question ID:- 345

Which of the following is/are correct ?
(A) Ozone layer is found around 24 kms above the earth surface.
(B) Ozone layer is distroyed by CFCs.

(C) Ozone layer blocks ultraviolet rays that comes from sun.
(D) CECs are only found in air conditioniers.

Select the correct code :

(1) only (A), (B) and (D),are correct.
(2) only (B), (C) and (D) are correct

(3) Only (A), (B) and (C) are correct.
(4) Only (B) and (C) are correct.
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Frafafes & 9 =9 a8 98 88 2

(A) gt T Hag ¥ @ 24 T . W INE WA wE S €
(B) SRR 1 (CFC) g1 s T8 = Bl § |

(C) A o gd I &3 el e Rl s ekt

(D) i U% Hi had TAEHSIYERl | U1 Sl g

HEl e w1 A B

(1) e (A), (B) 3R (D) &&t T
(2) HaE (B), (C) &R (D) T& 1
(3) HaE (A), (B) 3R (C) =& ¥
(4) Fad (B) R

Options:-

.1, Option ID :- 1377,
- 2, Option ID :- 1378,
. 3, Option ID :- 1379,

. 4, Option ID :- 1380,
Answer Given:- 3, Option ID : -1379

Question ID:- 346

Which of the following is/are correct ?

(A) Hepatitis ‘C" is a slow killer.

(B) Hepatitis B virus can get into foetus from an infected mother.
(C) The incubation period of hepatitis Bwirus is 30 to 60 days.
Select the correct code :

(1) only (A) and (B) arefcorrect.

(2) only (A) and (C) are correct.

(3) only (B) and (C) are correct.
( (

4)  only (B) is correct.
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Frafafas § ¥ =0 w8 9= 8 2

(A) THsfew ‘=i’ 41 o g a2

(B) Tuerefey ‘&Y’ foqum] us Hshfhd O 9 o 9% UgH Tl T
(C) etrersfem ‘=it faury &t 3gvEa srafe 30 & 60 fem T At 7

el e 1 TFA HI

(1) ae (A) iR (B) T&t T
(2) Ed (A) 3R (C) Té €1
(3) e (B) 3R (C) HEl &
(4) Fae (B) Hel B
Options:-

.1, Option ID :- 1381,
. 2, Option ID :- 1382,
. 3, Option ID :- 1383,

. 4, Option ID :- 1384,
Answer Given:- 1, Option ID : -1381

Question ID:- 347

Which of the following is not primarily improved through continuous training method ?

(1) Aerobic Capacity

(2) Number and size of Mitochondria
(3) Capillarization.

(4) ATP-CP system.

Taq wiwero fafy & mem ¥ Fefafan 3§ @ geren fFad gur 7@ da g 2
(1)  Srargaft siar

(2) HARURT (HIEEHT-AT) I HEA 3R HER

(3) hfvTERTERT

(4) TR ol

Options:-

.1, Option ID :- 1385,
« 2, Option ID :- 1386,
. 3, Option ID :- 1387,

. 4, Option ID :- 1388,
Answer Given:- 2, Option ID : -1386

Question ID:- 348
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Which of the following is /are correct about Hurdle Race ?
(A) Weight of the hurdle should be less than 10 kg.
(B) Maximum width of the hurdle =1.18-1.20 m.

Select the correct code :

(1) Both (A) and (B) are correct.

(2) Both (A) and (B) are not correct.
(3) Only (A) is correct.

(4) Only (B) is correct.

a-are % Hey § frefafed § & & qud w@ 28 2
(A) = T 9K 10 fopm. | 8 72 @ =nfe )

(B) @Te I SAfirehay =S =1.18-1.20 1. EH =1few
Hel Fe 1 99 I

(1) (A) 3 (B) &l we &

(2) (A) 3 (B) € TEAd €

(3) e (A) &

(4) o (B) Tl B

Options:-

.1, Option ID :- 1389,
« 2, Option ID :- 1390,
« 3, Option ID :- 1391,

. 4, Option ID :- 1392,
Answer Given:- 1, Option ID : -1389

Question ID:- 349

In the 3000 m steeple chase races the numbers of hurdles and water jumps an athlete need to cross
are :

(1) 24 and 9
(2) 28and 7
(3) 26and 8
(4) 27 and 8
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3000 HieX et 9 218 | T wHele Fi fraqr e iR e 59 qR S @ § 2
(1) 24309

(2) 28 AR 7

(3) 2638

(4) 27 38
Options:-

.1, Option ID :- 1393,
. 2, Option ID :- 1394,
. 3, Option ID :- 1395,

. 4, Option ID :- 1396,
Answer Given:- 2, Option ID : -1394

Question ID:- 350

The term “off side” is used in which of the following games ?

(1) Hockey
(2) Football
(3) Basketball
(4) Handball

frafafea § 9 forg @ 4 21w e’ s &1 99 e S g 2

(1) @

(2) T

(3) diEhea™

(4) Tedia
Options:-

.1, Option ID :- 1397,
. 2, Option ID :- 1398,
. 3, Option ID :- 1399,

. 4, Option ID :- 1400,
Answer Given:- 2, Option ID : -1398

Question ID:- 351
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The term ‘Ippon’ is related which of the following sports ?
(I) Boxing
(2 Judo

(3) Archery
(4) Wrestling

frfafad § 9 frg @@ %1 a9 ‘o’ (Ippon) &8 U 8 ?
(1)  HFRaTs
(2) e

(3) THErs
(4) F
Options:-

.1, Option ID :- 1401,
. 2, Option ID :- 1402,
. 3, Option ID :- 1403,

. 4, Option ID :- 1404,
Answer Given:- 2, Option ID : -1402

Question ID:- 352

Term ‘“Team Fouls’ is considered as foul in the following game ?

(1) Volleyball
(2) Football
(3) Hockey
(4) Basketball

Frefafga § 4 frg @@ 9 20 wisd’ 52 &1 U HSd JET S © 2
(1) afctrere

(2 Pped

(3) @R

(4) @R
Options:-

.1, Option ID :- 1405,
« 2, Option ID :- 1406,
« 3, Option ID :- 1407,
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- 4, Option ID :- 1408,
Answer Given:- 3, Option ID : -1407

Question ID:- 353

Which of the following vitamin is known as Folic acid ?

(1) By
(2 B,
3) By
(4) By

frafafea § 9 fa foefme = wifes fos Fsvd A g ?

() By
(2) B,
(3) B
(4) By
Options:-

.1, Option ID :- 1409,
. 2, Option ID :- 1410,
. 3, Option ID :- 1411,

. 4, Option ID :- 1412,
Answer Given:- 4, Option ID : -1412

Question ID:- 354

The ratio of the amount of CO; produced and the amount of O, used for the oxidation of glucose,
fatty acids and proteins is/knowrias :

(1) Respiratory Ratio

(2) Respiratory Quotient
(3) Respiratory Outcome
(4) Respiratory Production

TEeTS, Hhel UfEE SR U % 3q=eE Age] AR % fau 3099 CO, Fl A7E 3R 760 &1 . O, F
HIE < ST =l 1 el ST 2 7

(1) a9 SATIA
(2) vagd dfsy
(3) vaud gty

(4) IET IeATEA
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Options:-

.1, Option ID :- 1413,
« 2, Option ID :- 1414,
. 3, Option ID :- 1415,

« 4, Option ID :- 1416,
Answer Given:- 2, Option ID : -1414

Question ID:- 355
Which of the following pair is not correctly matched ?
(A) Due to Light - Occupational cataract
(B) Due to Noise - Occupational deafness
(C) Due to Electricity Factors - Burns
(D) Due to Mechanical Factors - Leukaemia

Select the correct option :

(1) only (A), (B) and (D) are correct.
(2) only (A), (C) and (D) are correct.
(3) only (A), (B) and (C) are correct.
(4) only (B), (C) and (D) are correct.

frafafed § @ &9 @ g9 gafaa 7@ © 2
(A) TS & HRO - SEHEF HifaTifeng
(B) =AM & RV — AEEIIF FoqIT

(C) Taga & &R - Se

(D) iRt RO & FHRO — el

el e 1 FIF BT

(1) e (A), (B) 3R (D) &l &

(2) Fad (A), (C) iR (D) wel &

(3) A (A), (B) 8T (C) W &

(4) %= (B), (C) ¥R (D) Wl &

Options:-

.1, Option ID :- 1417,
. 2, Option ID :- 1418,
. 3, Option ID :- 1419,

. 4, Option ID :- 1420,
Answer Given:- 3, Option ID : -1419
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Question ID:- 356

Which of the following is/are correct ?

(A) Alcohol is a habit forming drug.

(B) Alcohol is a potent diuretic.

(C) After consumption, the capacity of the liver to maintain blood glucose level is increased

Select the correct code :

(1) only (A) and (C) are correct.
(2) only (A) and (B) are correct.
(3) only (A) is correct.

(4) only (B) and (C) are correct.

frfafed § 3 #@ a8 98t 877 2
TehIed U T1ed 941 T a1l TS 5 ¢
(B) Ui Uk WIfasIell PEYF €1
(C) UehIed &1 HaH FT & 98 TFd FI TFHFHT TR F UG Fi &0 9g Sl |
Hel Fe 1 F9F I

(1) Faa (A) 3R (C) T ¥
(2) I (A) 3R (B) WEl €
(3) A) TR T

(4) FFA (B) 3R (C) Tl &

Options:-

.1, Option ID :- 1421,
« 2, Option ID :- 1422,
. 3, Option ID :- 1423,

- 4, Option ID :- 1424,
Answer Given:- 2, Option ID : -1422

Question ID:- 357

‘Dislocation” injury commonly occurs at which of the following joint ?

(1) Shoulder joint
(2) Hip joint

(3) Elbow joint
(4) Knee joint
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‘"fy-=gfa’ (Dislocation) =2 AMr=d: fre =1 sire =1 9fy § 8t & 2

(1) FUFHSH

(2) Foek SIS H

(3) el h SIS H

(4) HAhSISH
Options:-

.1, Option ID :- 1425,
. 2, Option ID :- 1426,
. 3, Option ID :- 1427,

- 4, Option ID :- 1428,
Answer Given:- 1, Option ID : -1425

Question ID:- 358

Which of the following is not a type of sprain ?

(1) Primary sprain
(2) Mild sprain

(3) Moderate sprain
(4) Severe sprain

frefafed § 9 =8 @ ' YR &1 91 6§ 2

(1) wrgfee 5=
(2) BSHIHE
(3) HERY HE
(4) TR A=
Options:-

.1, Option ID :- 1429,
. 2, Option ID :- 1430,
. 3, Option ID :- 1431,

. 4, Option ID :- 1432,
Answer Given:- 1, Option ID : -1429

Question ID:- 359

A form of obesity that results from having an abnormally high number of fat cells is known as :

1) Hypertrophic obesity

3

—

(

(2) Hyper tissue obesity
( Hypo cellular obesity
(

4)  Hyper cellular obesity
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TTeT9 =1 Terd] 1 U §Y S 9= ®Y § 31fe g | 991 Fifeer % R 2 8, Feerd €
(1) st Ty

(2) sifasas TyEa

(3) USRI Terdl

(4) SAfaepIierRTa Tgeral

Options:-

.1, Option ID :- 1433,
. 2, Option ID :- 1434,
. 3, Option ID :- 1435,

. 4, Option ID :- 1436,
Answer Given:- 1, Option ID : -1433

Question ID:- 360

Basal Matabolic Rate (BMR) is a measure of resting energy expendituze that is taken upon of :

1) 10-12 awakening after eating.

(

(2) 6-8 hrs of awakening after eating,
(3) 12-14 hrs of awakening after eating.
(

4)  8-10 hrs of awakening after eating,

STTIRYA 3UTT= R 98 (Heraifersr ¥e) (BMR) T W Fsil oad ol JI99 & S\t S &

(1) @F @M % ¥1" 10-12 52 SO
(2) WH @M & 915 6-8 He ST 9L

(3) @A @M & A1 12-14 HESH W
(4) @H @A % 9 8-10 ¥ FIH W

Options:-

.1, Option ID :- 1437,
« 2, Option ID :- 1438,
. 3, Option ID :- 1439,

. 4, Option ID :- 1440,
Answer Given:- 2, Option ID : -1438
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